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Std. 12 : (Science Stream) Maths (050)
Annual Exam

Time : 3 hrs. Paper Scheme

oAl HILRAHS 27 BAdR Wi [Agpel ol iR

Total marks : 100

Note: This Paper scheme acts as guideline to teachers, paper-setter, moderators etc. Along with tjhe aims of
Secondary and Higher Secondary Education, there is a spar to make some changer in question paper

for paper setter as well as moderator as per subject.

Weightage as per objective :

Objectives | Knowledge|Understanding Application Higher order thinking skill Total
Synthesis/ Inference/
Analysis Evaluative
Part-A Mark 10 15 13 10 02 50
Part-B Mark 10 15 13 09 03 50
Total Mark (%) 20 30 26 19 05 100
Marks as per type of question : PART-A
No. Type of Question No. of Question Total Marks
1. Objective 50 50
Marks as per type of question : PART-B
No. Type of Question No. of Question Total Marks
. Short Answer Type (SA-I) 08 16
2. Short Answer Type (SA-Il) 06 18
3. Long Answer Type (LA) 04 16
Total 18 50
Makes as per type of Question (PART-A):
Sr.No. Type of Subject Marks distribution Marks distribution Unit
according to chapter according to unit Number
1. Relations and Functions 06 12 I
2 Inverse Trigonometric Functions 06
3 Matrices 07 14 I
4 Determinants 07
5 Continues and Differentiability 08
6 Application of Derivatives 08 44 11
7 Integrates 14
8 Application of Integrates 07
9 Differential Equations 07
10 Vector Algebra 08
11 Three Dimensional Geometry 08 16 v
12 Linear Programiny 06 06 V
13 Probability 08 08 VI
Total Marks 100 100

Note : Chapterwise marks is there allotted as per given specimen question - paper it can be changed,

but unitwise should not be change.

(1]




Std. 12 : (Science Stream) Maths (050)

Annual Exam

oAl HILRAHS 27 BAdR Wi [Agpel ol iR

Time : 3 hrs. Scheme of Paper Total marks : 100
No. of Details of Section/ Question Marks
Question
PART -A
1t0 50 50 Multiple Choice Questions, each of 1 mark 50
PART -B
SECTION - A
1t08 8 ShortAnswer type questions, Each of 2 marks 16
*In this section give two internal options.
SECTION -B
9to 14 6 Short Answer type Questions, Each of 3 marks 18
* In this section give two internal options (Total-2)
SECTION-C
15t018 | 4 LongAnswer Type Questions, Each of 4 marks 16
* In this questions give one internal options. (Total-1)
Total Marks 100
Note: e Timeone hourforPart-A

Time two hour for Part-B

For first test syllabus will be upto first test only and paper style of it will be as per the

paper style of annual exam of 100 marks.

In preliminary exam complete syllabus should be covered and its paper style will be as

per the paper style of annual exam of 100 marks.

(2]
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Std. 12 (Science Stream) Maths-050
Annual Examination

Time : 3 Hours Sample Paper Total Marks : 100

Time : 1 Hours Total Marks : 50
Instructions : (1) There are 50 objective type (MCQ) questions in Part-A and all questions are compulsory.
(2) The questions are serially numbered from 1 to 50 and each carries 1 mark.

(3) Read each question carefully, select proper alternative and answer in the OMR Sheet.

(4) The OMR Sheet is given for answering the questions. The answer of each circle (®) of the correct
answer with ball-pen.

(5) Rough work is to be done in the space provided for this purpose in the Test Booklet only.

(6) Set No of question paper printed on the upper most right side of the question paper is to be written
in the column provided in the OMR Sheet.

(7) Use of simple calculator and log table is allowed, if required.

(8) Notations used in this question paper have proper meaning

(1) If f:R—=R,f(x)=(5-x") then (fof) (x) =

(A) B) (©) x (D) 5-x

(2) If A={1,2,3 } then match following subsets of A x A properly.
Part-A Part-B

D R, ={(1,1)(1,2),(2,1)} (a) only Symmetric

dn R,={1,1)(2,2),(3,3),(1,2),(3,1)} (b) equivalence

) R,={(1,1)(2,2),(3,3)} (C) only reflexive

(A)  (D—(b), (ID)—(a), (IIT) —>(¢) (B) - (D—(a), (D)—(c), (1) — (b)

(C©)  (D—=(c), (I)—(b), (III) —(a) (D) (D—(a), AD)—(b), () — ()
3) Iff.'N%]V, f(x)=2x+3 then

(A) f isnotone-one (B) f is onto ) f > (x)= XT_3 D) f " not defined
o =i () —

A 7 (B) % © (D) _37“

, (-1

Q) Sm(%—Sm (7))=

(A) % (B) % ©) % (D) 1
(6) If cos (§)+Cosec’l(§)=% then x = -

(A) 1 B) 3 € 5 (D) 4

(4]
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(7) If x :% then Cos(2C0s’1x+Sin71x) =

B N V3 1
(4 ¥ B) -+ © B o) |
12070
@® If[121] |201 2] = O then value of x is equal to =
102]x
A 1 (B) 2 € -1 D) -2
Cos a - Sin o |
9 If A=| . and A+A =Ithen o« =
Sina Cos a
A) = (B) m € = (D) 3m
6 3 ) 2
(10) IfA is a square matrix such that A>=A then I+A) —7A=
(A) 1 (B) I-A < A (D) 3A
(11) If A and B are Symmetric matrices of same order, then AB + BA is a
(A) Skew symmetric matrix (B) Symmetric matrix
(C) Zero matrix (D) Identify matrix
(12) If the area of the triangle with vertices (— 2, 0) (0, 4) (0, K) having 4 Sq. units then K =
(A) £2 (B) £3 ) 2,8 (D) 0,8
1 Cosf 1
(13) TA= | w6 1 cow| »Where0=<0<2mthen
-1 -Cos6 1
(A) Det(A)=0 (B) Det(A)e (2,<) (C) Det(A)e (2,4) (D) Det(A) €[2, 4]
0 i-100  i-500
(A4 D=1 o 10004 | thenD =
500—i i-1000 0
(A) 100 (B) 500 (C) 1000 (D) 0
1-Coskx x£0 . .
(15) 1t f(x) = 2 : is continues at x = 0, then K =
8 cx=0
(A) =1 B) £2 (C)+3 (D) +4
(16) Ife' +¢ =¢ " then Z_y -
X
(A) €7 (B) ¢ (C)-e~ (D) -~
i (etanlx + cot™lx )
(17) dx =—:(XE R)
ki
4) 0 B) 1 ©)e (D) e’

(18) The interval in which y =x".e is increasing is

(A) (-00, o) B) (-2,0) (©) (2, 0) (D) (0,2)
(19) Theline y =m x + [ is atangent to the curce y2= 4 x if the value of m is
) 1 (B8) 2 (©)3 (D) 1

[3]



20) The normal at the point (2, -2) on the curve 3x -y’ =8 is
( p y -

2y

(22)

(23)

24)

(25)

(26)

27

(28)

(29)

(30)

(A) x+y=20 B) xt+2y=-2

Approximate value of (3 1)% is

(A) 2.01 (B) 2.1

L (2019-x
Jl 10g(2019+x) dx =

A) 0 (B) log 2019
_[1 dx _

0 x+\/;

(A) log2 (B) log3

2
[x@-0" 4=
0

3242 5442
ST Y YT
jsin (logx) dx = +c
(A) 3 [Cos (logx) - Sin (log x)]

(C) 5 [Sin (log x) — Cos (log x) ]
J‘ dx £ ,

e’ —1

(A) Sin" (¢") (B) Sec (¢
% dx
£1+ ~tan x

(A) B) %

2
p 1+ x—x

A) 1 (B) 0

2n

j. N1+ Cos2x dx=
(A) —J6 (B) —/3

2 2

Area of the region bounded by ¢+ );

(A) 12w (B) 241

f tan"l( 2x—1 ) dx 44t

2 -9

(C) x-3y=8

(C) 2.0125

© 1

(C) -log2

35y2

©) =5

(D)

(C) tan™ (&)

© 3

©-1

€ 322

(C)48

dopAd HILARS A B2 Hi[Ws (A ol iR

(D) 3x+y=4

(D) 1.9825

(D) 2.log (2019)

(D) log4

|
D) 352

(B) 3 [Sin (logx)+ Cos (logx) ]
x [Sin (log x) — Cos (log x) ]

(D) Cot" (¢
D) 0

T
(D) 4

®) 55 6-5)

(D) 641
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T

(31) Area of the region bounded by the curve y = Sinx, and x - axis, -7 sx<

A) 1 (B) 2 € 4 (D)

SYE]

(32) Smaller area enclosed by the circle x° + )’ =4 and the line x +y =2 is
(A) 2(m-2) (B) -2 (C) 2m-1 (D) 2(n+2)

dx dx
(A) land?2 (B) 1and 3 (C) 2and 2 (D) 2and 1

2 2 3
(33) The order and degree of differential equation xy% + (ﬂ) - y(ﬂ) =0 is

(34) Function y = e™ is solution of differential equation

dy dy dy dzy dy
A) =-3y=0 B =0 (C -9y=0 (D) —-9y=0
(A) — =3y ()d2 —~6» =0 (O y=0 (D) ——-9%

(35) The number of arbitrary constants in the particular solution of a differential equation

of third order are

@A) 3 (B) 2 <© 1 D) 0
N - A A A
(36) Angle 0 between two vectors a =§'\ +}'\ -/12 andb=1i -j +k is
o1 2
(A) Cos 13 (B) —Cos_lé (©) =Sin™ g (D) Sin_lé

(37) For two vectors c?andl;, |a_>| =2, |Z[ =3 and;°g=4then|2-5| =

A) 3 B) 15 (©) 1(D) J5
AA
(38) Thevalueofz°(]xk) +J (1Xk)+k(z Xj)is
(A) 0 B) -1 © 1 D) 3
39) If a and b are two non-zero collinear vectors then is correct.
(A) b#ha:VAieR B)a=b=0

(C) The respective components of a and b are in proportion.

(D) both direction and magnitude of a and b are different.

AAA A A A
(40) If scalar product _pf vector a with vectors 3i-5k 2i+ 7] jandi+j+ k are respectively

-1, 6,5 then a =
\ N ATNEA A A A A ANEATEA
A 3i+2k B)3i+j+2k ©i+3j+2kD) i+j+tk
(41) For two non-zero vectors a and b | a+b | = | a | then vectors 2a +b and b are
(A) Parallel (B) Perpendicular (C) Co-llinear (D) Equal

[7]
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(42) The coordinates of the foot of the perpendicular drawn from the origin to the plane
2x-3y+4z-6=0 are

(A)(E—_lgﬁ) (B)(i—_wﬁ) © (L& 2 12)p (Lii)
29729729 V29742929 29°29°29 V297129729
(43) The angle bet" two line **3_Y=1_2+3 apq x+1_4-y_z-5 g
3 5 4 1 -1 2
(83 o 8 83 T
(A) Cos [FJ (B) Cos (m] (C) Sin (FJ (D) 5

(44) Distance between the two planes 2x + 3y + 4z - 4 = 0 2wl 4x +6y + 8z = 12 is

(A) 2 Units (B) 4 Units (C) 8 Units (D) % Units
(45) Objective function of an L.P. problems is

(A) aconstant (B) a function to be optimized (C) an inequality (D) a quadratic equation
(46) In the question of maximum value of z= 8000 x + 12000y subject to constraints

9x+12y <180, 3x+4y <60, x +3y<30,x=20,y=20 is not a point of feasible region.
(A) (20,0) (B) (12,6) € (12,0) (D) (0,15)
(47) In solving the L.P. problem “Minimize z = 6x + 10y subjectto x=>6,y>2,

2x +y =10, x 20, y = 0" redundant constraints are
(A) x=26,y=22 B) 2x+y=210,x=20,y=20 (C) x=26 D) x=26,y=0

(48) The mean of the numbers obtained on throwing a die having written,
1 on three faces, 2 on two faces and 5 on one face is

(A) 1 (B) 2 ©) 5 D) &
(49) E, F are independent events and P (E) # O, P(F) # O, then 1s false.

(A) P(E/F)=P(E) (B) P(F'/E)=1-P(F/E)

(C)P(E'/F)=1-P (B) (D) P(E'/F)=1-P(E/F)

(50) When four letters are inserted in to four covers (one in each)
= event that only one letters goes to the proper cover.
= event that exactly three letters go to the proper covers.
= event that all letters go to proper covers and

Part-X | Part-y
(p) P(A) (@ O
@ P(®) (b) 1
) P (O © + then  istrue
(A) p—a,q—c,r—b B) p—>c,gq—ar—b
() p—>c,gq—obr—a (D) p—>b,g—oar—c

(8]
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Time : 2 Hours PART-B Maximum Marks : 50

Instructions : (1) Write in a clear legible hand writing.

(2) There are three sections in Part-B of the questions paper and total 1 to 18
questions are there.

(3) All the questions are compulsory. Internal options are given.

(4) The numbers at the right side represent the marks of the questions.
(5) Start new section on new page.

(6) Maintain Sequence,.

(7)  Use of simple calculator and log table is allowed, if required.

(1
2

3)
“4)

)

)
(6)

(7

®)

®)

Section-A

Answer question No. 1 to 8 as directed. (Each question carry 2marks.) [16]

(Each carries 2 marks)

Prove that tan'/x :%COS*'G_") , wherex e [ 0, 1]
+Xx

Differentiate /w w.t. x
3x°+4x+5

Find I (x+1)(x+1log x)
Find the area of the region bounded by the two parabolas y = x° and y’ = x.

Find the area bounded by the ellipse x_ " J’_2 —1 and the ordinates
a’ b
x=0 andx = ae, where b’ =a’ (1 —¢’)ande < I.
OR
Find the area of the region bounded by curve y =4 x” and lines y = 1, y = 4.

. - o A cq /) PTRAN
If a unit vector @, makes angle % with ? % Wlthf\and an acute angle 0 with £, then find 0

and hence the components of a.
Find the co-ordinates of the point where the line through the points A4 (3, 4, 1) and
B (5, 1, 6) crosses the xy - plane.

Three cards are drawn successively without replacement from a pack of 52 well shuffled cards.
What is the probability that first two cards are kings and the third card drawn is an ace ?

OR

Events A and B are such that P(A)=—= P( B)= l and P( A'A Bl) — l . State whether A
and B are independent ? 12 4

9]



)

(10)

(10)

(11)
(12)

(12)

(13)

(14)

(15)

(16)

(16)

(17)
(18)

dopAd HILARS A B2 Hi[Ws (A ol iR

Section-B

Answer questions number 9 to 14 as directed. (Each question carry 3 marks) [18]

Consider f: R" — [4, ), given by f (x) = x’ + 4 show that f is invertible with the inverse /'
of f givenby f”(y)=/y—4 where R" is set of all non-negative real numbers.

Solve following system using matrix

X—-y+2z=12y-3z=13x-2y+4z=2

OR
3 4 1+2n —4n . ce
If 4= [1 } then prove that 4" = [ - ] where 7 is any positive integer.
- n —zN
If xJ1+y+yJl+x=0 for, -1 <x <1 then prove that Ci—

dx (I+x)
Fine the vector equation of the plane passing through the intersection of the planes
NP ATEA T - NN A .
re(i+j+k)=6 andre(21+ 3j+k)=-5and the point (1, 1, 1)
OR

Find the vector equation of the line passing through the point ( 1, 2, -4)
and perpendicular to the two lines =8 _ y+19 _z-10 apd x-15_y=29 z-5

3 -16 7 3 8 -5
The corner points of the bounded feasible region for L.P. problem are A (0,4), B(0,5)C(3 5),
D(5,3), E(5,0), F(4,0).Obtain the maximum and minimum value of the objective

functionz = 10x- 7y + 1900
If a fair coin is tossed 10 times, find the probability of

(a) exactly six heads (b) atleast six heads (c) atmost six heasds
Section-C
Answer question No. 15 to 18 in detail. (Each question carry 4 marks) [16]
Show that- |(y + z)? Xy zX
Xy (x+2)° yz =2xypz(x+y+z)’
Xz yz  (x+y)’

An open topped box is to be constructed by removing equal squares from each corner of a 3
metre by 8 metre rectangular sheet of aluminum and folding up the sides. Find the volume of
the largest such box.

OR

Show that the height of the cylinder of maximum volume that can be inscribed in a sphere of
radius Ris ,  also find the maximum value.

kg

Prove that- 3 n

J log,(Sin x) dx =—1log, 2
The temperaturé of a body in a rodm is 80°F. After five minutes the temperature of the body
becomes 60°F. After another 5 minutes the temperature becomes 50°F. What is the

temperature of surrounding ? (Newton’s law of cooling)

[10]
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Maths 050 (H)
Sample Paper
Science Stream

wHT ¢ 1 90 T 37 : 50

(M

2

3)

(4)

©)

(6)

(1) =@ 97 H Part-A # g8 (M.C.Q.) ¥R % 50 W5 § | | gs a1fard |
(2) 9o i oA HEA 1 W50 § | Bk g 1 O |

(3) T 95T o = qLE TS We forshed THE oeh OMR U5 H ST 1§ |

(4) 39 37em ¥ feu TT OMR Tk H s % WA (A) O, (B) O, (C) O, (D) O few w3 & | for wsst
I TE B I Terehed 3 g B U Y gl MG @ HATE |

fou T g7 # SW et SR 99T Y2 e H OMR e # Sucrss Hiem # fafay |
TF o X g T gieaen | < T ST H A1 8N |

e STEt g3 I Wlel Sheleeiet SR dlfete (Log Table) 3 SUAMT &t AT &1 Wl € |
TE TSI | SR o TE Gaet o wefera @19 ¥ |

PART - A
qﬁf:R—)R,f(x)=(5—x5)é a (fof) (x) =

1 s

(A) (B) x (©) x (D) 5-x

g A= {1,2,3} @ Fr=fafad A x A o STIY=IT & T& e ¥ ey |
faurr-A faurT-B

O R ={1,1)(1,2),2,1)} (a) W FAMAT

(D) R,={(1,1)(2,2),(3,3),(1,2), 3,1)} (b) T Faiex

(D) R, ={(1, 1) (2,2), (3,3)} (c) HMH &I

(A)  (D—(b), ID—(a), (III) —(¢) (B)  (H—(a), (ID)—(c), (III) — (b)

(©)  (D—(c), (IH—(b), (IT) —( a) (D)  (DH-(a), AD—>(b), (1) - (c)

ag f- N> N, f(x) =2x+3 @

(A) fTER ARSI (B) fT=RFS | (C) f*'(x)J_j (D) " wftefir T € |

tan ™' (fJ —tan™’ [ﬂJ =
Yy xt+y

~

RSO

@ 3 ® 3 © 3 (D) _377‘
Sin [% — Sin™ (%1)) -

A) 5 B) + ©) + (D) 1
Ife c(,sfl(gngsecf'(;jzg Jx =

&) 1 (B) 3 ) 5 (D) 4

(4]
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(7) afe xz% qr Cos (2C0s’lx+Sin’1x) =

®) 5 ®) s © & D) 1
(®) g [12 1]{1220(1“2] =0 Bl x T T
(A) 1 ) 2 ©) -1 D) -2
9) =fe A=[§,f: _Ci"fj FRA+A =1 Fec =
o b 3n
A = ®) © ®) *

(10) afg ot saeqe (Matrix) AR TATA’=A AId@l (I+A) -7 A=

(A) 1 B) I-A C) A (D) 3A
(11) =f¢ A 3R B ®9H #hife ol Gfid 3 &, @ AB + BA 71
(A) fawm gafag (B) HAMHA 38 (C) I AP (D) TcEHeh YR
(12) AE (=2, 0), (0, 4), (0, K) Sidfag aret B9 &1 &A%t 4 71 % 2, @K =
(A) +2 (B) +3 (C) 2,8 (D) 0,8
1 Cos6 1 .
(13) afg A=|-Coso 1 Cose} SR 0<0<2m @A
-1 -Cosb6 1
(A) Det(A)=0 (B) Det (A) € (2,<) (C)Det(A) € (2,4) (D) Det(A) €[2, 4]
_ 0 i-100 1-500 _
(14) =< D= 100—i 0 1000-15L AADI=___
500—i i-1000 0
(A) 100 (B) 500 (C) 1000 (D) 0
1-Cosx )
(15) A ®wer f(x) = * ’ X=(0WEE @ K=
8 sxz0
A) =1 (B) £2 (C)+3 (D) =4
(16) afg e'+e' =¢"dl % =
(A) €7 (B) ¢~ (C)-€" (D) -€”
d tan”' x + cot”'x
(17) 2 € )= ‘(xe R)
(A) 0 B) 1 ©e D) e
(18) FAH y =x" . e auH e T |
(A) (-0, o) (B) (-2,0) (©) (2, ) (D) (0,2)
(19) A y=mx+1 9% y=4x A wd @ @ mF g T

(A) 1 (B) 2 ©3 (D)

[3]



(20) TR 3x -y’ =8 Wk Tog (2, -2) T TR T@IH THIHT

1)

(22)

(23)

(24)

(25)

(26)

27)

(28)

(29)

(30)

(A) x+y=0 B) x+2y=-2
(31) 1 wf=ere 7 T
(A) 2.01 (B) 2.1

| 2019 —-x
Jl 10g(2019+x] dx =
(A) 0 (B) log 2019
_[1 dx _

0 x++/x
(A) log2 (B) log3

2 3

Jx (2-x)2 dx =
(A) 32 B) 42

35 7

jsin (logx) dx = +c

(A) % [Cos (log x) - Sin (log x)]
(O % [Sin (log x) — Cos (log x) |

dx
R W AN
e —1
(A) Sin" (¢") (B) Sec’ (¢
% dx
‘Ll + ~/tan x
(A) % B) %
_([ tan‘l(lfi:lxzj dx <1 HH
(A) 1 (B) 0
j. N1+ Cos2x dx=
A) —/6 (B) 3

2

igE gty 4 B A A
(A) 12w (B) 241

gl

(6]

©)

©)

(©)

©

©)

(B)
(D)

(C) tan™ (&)

g HILAAS A B2 Hi[Ws (A ol duidl-o1R

3

x-3y=8 (D) 3x+y=4
2.0125 (D) 1.9825
1 (D) 2.log (2019)
-log 2 (D) log4
3542 1
3512 (D) ——

0 352
< [Sin (log x) + Cos (log x) ]
x [Sin (log x) — Cos (log x) ]

(D) Cot" (&

Tl

© = D) 0
(©-1 D) 4
3 1
© ;727 o F6-B)
(C)48 1 (D) 64m
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(31) TF y=Sinx, Tsx<t S - 37 F o & 1 A T
A) 1 (B) 2 (€ 4 D)r
(32) FAX +y =4 T x@Ex+y=2 RN 97 = dTHA T
(A) 2 (m-2) (B) & -2 (C) 2m-1 (D) 2 (n-1)
(33) Tt HfiRO X y% (%) —y(d—y) =0 FAfE AN AGHFATIR T
(A) 13 2 (B) 13 3 (C) 232 (D) 23R 1
(34) ®eH y=e™, ST TSRO o e © |
W) L5y B) LY, D gyg © LY gy0 D) L g,
(35) A ife ol fepelt Sraher Teter o foIf¥Te get o suttfa @es 3=l & e g
(A) 3 (B) 2 ©) 1 (D) 0
(36) TR a=1+7-kwn b=7-/+k e mBoe =
242 (1
(A) Cos™ % (B) —c0s-1§ (©) =Sin == (p) S5
(37) A AW Rb WMIFRFERF || =2, [b| =3 R ab=4q|a-b|=
(A) V3 B) i5 ©1 (D) /5
AN AN A A VANIVAN A A A
(38) i (jxk)+tje(ixk)+k(ixj)H AR gl
(A) 0 (B) -1 ©) 1 (D) 3
(39) e ¢ 3R b 3 YR T@ WL A o TR 2 |
(A) b#Aa;VieR B)a=b=0
(C) a 3R b % FHAN Heh T ¢ | (D) a 3R b fawn eik o fafim |

(40) @R afew ¢ wafedi 37- 5% 27+ 77 el M+ P+ R e sifew omwe swws -1, 6, 5
qdqa=
A AN A A A AN A A A A A
A) 3i+2k B)3itj+2k ©i+3j+2k D)it+tj+k
41) aea SRH AR ARAT AN [0 +b | = | a | 2a + b 3R Ak %
(A) IR (B) weed (C) =@ (D) HHH

[7]
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(42) el W THAA 2x - 3y + 4z - 6 = 0 R % el h oG % AR gl

12 -18 24 12 -18 24 6 -9 12 6 -9 12
w(EFY  elEEe o lBes o)
(43) Y@ x;3:y5_12213 AR xT+1:4_—_1y:22;5 % o1 o I A T 71
w %) o5 o ol
(44) A GHASA 2x + 3y + 4z -4 = 0 AR 4x +6y + 8z = 12 H = I & T
(A) 23 (B) 43 (C) 8z (D) % TS
(45) sk 9T % 9o § ST H 33T el T

(A) Teq 21 (B) %1 3TAH WM 1 X o TeId BT @1 (C) srafiem @ | (D) fgoma weferor 2 2 |
(46) 9x+12y$]80,3x+4y£60,x+3y£30,x20,y20%53ﬂﬁﬂ
z= 8000 x + 12000y % feha® oA HF A H _ hoig fag TR 2 |
(A) (20,0) (B) (12,6) ©) (12,0) (D) (0, 15)
(47) x26,y=22x+y>10, x>0,y >0 T h ST z = 6x + [0y H IIaH oI I1d FA &
TN % o B ST SRS & |

(A) x=26,y=22 (B) 2x+y210,x=20,y=20(C) x=6 (D) x=26,y=20
(48) TR W, TSTEeh i Whotehl W 1,37 81 W 2 3R Teh Wheteh W 5 Tor@l T 8, =l S81eH ™
THEEE w2
(A) 1 (B) 2 © s (D) 3
(49) E, F w9241 & 3P (E) 20, P(F) 20 A T |
(A) P(E/F)=P(E) (B) P(F'/E)=1-P (F/E)
(C)P(E'/F)=1-P (E) (D) P(E'/F)=1-P(EF)

(50) =R T3 H =GR Fer T WA A € | &l Fer H Th U | afe
A= SR T 03 GE FoR H ¢ |
B = aXe o T el R H T |
C= |t 73 & FR H 2 T8 TeA fa9-X iR faum-yH 9 da & Sifed |

faamr-X | faamr--y
() P(A) (@) O
(@ P(B) b) -
() P (O (c) + qA wER
(A) p—>a,q—>c,r—>b B) p—>c,q—ar—b

() p—>c,gq—obr—a (D) p—>b,g—oar—c

(8]
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PART-B el 37eh : 50

(1) T=ered # w9 fafew |

(2) W% Part-BH diF faam g SR et 1 A 18 4 € |

(3) el W arfard © | sviafien fashen fod T ¥ |

(4) et @I g o ofen el MU R

(5) o faum 73 9= R fafaw |

(6) Wi o I FHATHR o |

(7) X heragerel 3R difer Log-table & STaNT st 1wl < St € |

faurT-A
o fraifiafa 1@ 8 ws < 7E wifeedt % ATAR ST AT | (W UH UsA®H 23w E)  [16]

y, 1 4 x
(1) fag Fifmg; ' Vr=7Cos (m] xe [0,1]
(x=3)(x*+4)
(2) x % T Jm 1 3T DT |

(3) T wR J(x+1)(x;logx)2 i

(4) VI y =x W6 ' =x 9 foR & 1 &awel 91 T |
(5) g z—2+Z—2=1 TE FfeH x = 0 R x = aed TR &7 1 4TFA TG FAT,
Tr|%\T"bz=az(]—ez)11<_>Te<I%I
AUAT
(5) Why=4x ART@E y=]qqMy =4 ¥R & 7 &%t I0d HIY |

6) df THAEH ARG, ] %ﬁwugéﬁwa?%aﬁx% SR % % e T S
A © T WM T HISTY AR SR Tl § @ o 512eh i 71 Hory |
(7) =4 fig 3 Fwic 910 HITC ST&1 figaht 4 (3, 4, 1) SR B (5, 1, 6) % foem ot W@ xy - ad &
I 7 |
(8) 52 Ui o oT= W el TS Sl H W U o A1¢ Ueh 9 T fan wfa wenfua fopu feprer w1 v
A T SIEIE SR AR gE B S A Wi € 2
arerar

(8) MW A q1 B T HeAT ¢ 3R P(A):%,P(B):% iRk P(AlmBl):%

T A 3R B T TN § 2

(9]
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o fmafafEa o | 14 ws o SAX & Telt o W1 W T 15 7 T ohr e o Taet
AT I (R TR AR 3RS 1) [18]

9) [ (x)=x"+4 FUISH TeM [: R — [4, o), R fomR sifow | firg e/ opashaviia € qon f
a7 £ (y)=\[y—4 BRI U Bl &, Sel R Wl HOR arcafars Sensl s g € |

(10) WHRO @™ x —y + 2z =1, 2y — 3z = I, 3x —2y +4z = 2 1 TA TR fafd | g HI(C |

Sr

- 1+2n —4n o
Ifg A= [13 ﬂ a fag =wifg fe 4" = [+n 12n} &l 11 T 6 U ¢ |

d —

(11) g -1 <x <1 ®Hfag xyl+y+yJl+x=0 @ firg =ifom o d_§=(1+i)2
VANEEVAN AN N

(12)wa?»ﬁ7-(1'+j+k)=6aﬁ1r-(2?+3f+42)=-5%mfsrﬁ1%a=ram1%i§(l,1,1)@

et A 1 Afey Tt I e ¢

AT
(12) fag( 1, 2, -4) & S el 3R I st
x-8 y+19 z-10 x—-15 y-29 z-5 )
3 T 1 7 ¥R T3 TTg T g T W@l o Hiaw GHiER A6
(13) H9a gt e 3 figu A (0 4),B(0 5) C(3 5),D(5 3),E(5 0),F(4 0) g d
z=10x-70y + 1900 % TexH 3R ZaH fohud wmH HifeTa |
(14) s T = fas 10 9% STl T A F11 %1 TR 910 F10 ¢ (a) S B: foa
(b) =qH B =1 () Afeehad =: =

o fAfafEa wes Fuieh 15 W 18 o ST ST TUTAT ok W Y § & TE AT bl &
T TRt T | (ST TR U H 4 AH T 1) [16]
(y+z)2 Xy ZX
(15) 'FFI@ ¢ Xy x+2° yz |=2xz(x+y+z)
Xz vz (x+y)

(16) THMHMTH & 3m x 8m H STFAAHER AGT & T A § THH a1 e W I+ THHaq &
TheTehl hl HISeh Ge ed Ueh Hgeh o1 € | 36 Fehl o+ Hgeh 1 SATEeha ™ STTFd (Volume) 1
IS |

2197aT o

(16) Tog T 3 Tk R oo 3 it & Siarfa Sifereha™ ST o o ol S 3 § | tferhad st
ot 919 HfS |

(17) ﬁq@w: -2[ loge(Sinx)dx=%log52

(18) T 90w § T TR a1 arad™ 80°F © | Wia e 3 18 9a IR & aT98H 60°F & S ¢ | 39
e TR 5 fafe & a1g SH qaraEE 50°F 2 S € | o STk STHU o el s 3= aHE
1 HITTT |

[10]
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Std. 12 : (Science Stream) Biology (056)
Annual Exam

Time : 3 hrs. Paper Scheme Total marks : 100

Note: This Paper scheme acts as giudeline to teachers, paper-setter, moderators etc. Along with tjhe aims of
Secondary and Higher Secondary Education, there is a spar to make some changes in question paper
for paper setter as well as moderator as per subject.

Weightage as per objective :

Objectives Knowledge | Understanding| Application Higher order thinking skill Total
Synthesis/ Inference/
Analysis Evaluative
Part-A Mark 05 15 15 08 07 50
Part-B Mark 05 15 15 09 06 50
Total Mark (%) 10 30 30 17 13 100
Marks as per type of question : PART-A
No. Type of Question No. of Question Total Marks
1. Multiple choice questions 50 50
Marks as per type of question : PART-B
No. Type of Question No. of Question Total Marks
. Short Answer Type (SA-I) 08 16
2. Short Answer Type (SA-Il) 06 18
3. Long Answer Type (LA) 04 16
Total 18 50

Makes as per type of Question (PART-A):

Sr.No. Type of Subject Chapter wise Questions Unit wise Marks
1. Reproductions in organisms 05
2, Sexual Reproduction in flowering plants 05 Unit-1
3. Human Reproduction 06 20
4. Reproduction Health 04
5. Principle of Inheritance and variation 09
6. Molecular basis of inheritance 08 Unit-2
7. Evolution 07 24
8. Human health and disease 08
9. Strategies for enhancement in food production 07 Unit-3
10. Microbes in Human welfare 07 22
11. Biotechnology : Principles and process 08 Unit-4
12. Biotechnology and its Applications 06 14
13. Organisms and Populations 06
14. Ecosystem 04 Unit-5
15. Biodiversity and conservation 06 20
16. Environmental Issues 04

Total Marks 100 100

Note : Chapterwise marks is there allotted as per given specimen question - paper it can be changed,
but unitwise should not be change.

[1]
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Std. 12 : (Science Stream) Biology (056)
Annual Exam

Time : 3 hrs. Scheme of Questions Paper Total marks : 100
Question Details of Section/ Question Marks
No.
PART-A
1t0 50 50 Multiple Choice Questions, each of 1 mark 50
PART -B
SECTION - A
1t08 8 ShortAnswer type questions, Each of 2 marks 16

*In this section give two internal options.

SECTION -B

9to 14 6 ShortAnswer type Questions, Each of 3 marks 18
* Tn this section give two internal options (Total-2)

SECTION -C

15t0 18 4 Long Answer Type Questions, Each of 4 marks 16
* In this questions give one internal options. (Total-1)

Total Marks 100

Note:

Time one hour for Part-A
® Time two hour for Part-B

e For first test syllabus will be upto first test only and paper style of it will be as per the
paper style of annual exam of 100 marks.

e |n preliminary exam complete syllabus should be covered and its paper style will be as
per the paper style of annual exam of 100 marks.

[2]
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Biology 056 (E)
Std. 12 (Science Stream)
Class - XIlI

Time : 3 Hours Total Marks : 100

Time : 1 Hour Total Marks : 50

Introductions : (1) There are 50 objective type (MCQ) questions in Part-A and all questions are

compulsory.
(2) The questions are serially numbered from 1 to 50 and each carries 1 mark.
(3) Read each question carefully select proper alternative and answer in the OMR sheet.
(4) The OMR sheet given for answering the questions. The answer of each questions is

represented by (A) O, (B) O, ( C) O, (D) O. Darken the circle (@) of the correct
answer with ball pen.

(5) Rough work is to be done in the space provided for this purpose in the test booklet
only.

(6) Set No. of question paper printed on the upper most right side of the question Paper
is to be written in the column provided in the OMR Sheet.

(D)

2)

3)

4

)

(6)

What is the speciality of strobilanthus Kanthiana for flowering ?

(A) Everyday flowering shown

(B) Every year flowering shown in particular season.

(C) Every year only one day flowering shown.

(D) Every 12 years flowering shown.

Identifv X and YV fram given diagram.

(A) X =Seed, Y=Embryo.
(B) X =Pericarp, Y = Embryo
(C) X =S8eed, Y = Pericarp
(D) X =Pericarp, Y = Seed

By which organ vegetative propagation take place in banana ?

(A) Runner (B) Bulbil (C) Sucker (D) Rhizome
Assertion A : Pollen grain Can with stand high temperature and strong acids and alkali.
Reason R : Exine of pollen grain made up of sporopollenin.

(A) A and R both are true and R is true expatiation of A.

(B) A and R both are true but R is not correct explanation of A.

(C) Ais correct but R is wrong.

(D) Ais wrong but R is correct.

Which temperature is suitable for storage of pollen grain for long duration.

(A) 0'C (B)37°C (C) 100°C (D) -196°C
Identify group from following which have perisperm.

(A) Black piper, Sugar beat (B) Black piper, Pea

(C) Sugar beat, gram (D) Pea, Bean
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(10)

(1D

(12)

(13)

(14)
(15)
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Match the Column-I and Column-II properly.

Column-I Column-II
(P) Myometrium (1)  Outer most layer of uterus
(Q) Perimetrium (i1)) middle layer of uterus
(R) Endometrium (ii1)) Inner most layer of uterus
(S) Mons pubis (iv) It is made up of fatty tissue

(A) (P-1), (Q-ii), (R-iv), (S-iii)

(B) (P-ii), (Q-1) (R-iii), (S-iv)

(C) (P-ii), (Q-iii), (R-iv), (S-1)

(D) (P-iv), (Q-iii), (R-ii), (S-1)

Choose the option from the following for correct statements.
(1) Sperms take the nutritions from sartoli cells.

(2) Sertoli cells produced androgens.

(3) Leyding cells synthesized androgens.

(4) Leyding cells produces from the Ovaries.

(5) Menstrual cycle not shown duing the pregnancy.

(A) 1,3 and 5 are correct (B) 3 and 5 are correct

(C) 2,4,5 are correct (D) 3,4 5 are correct

After the use of which method no possibility of repregnancy ?

(A) Physical barrier method (B) Chemical barrier method

(C) Sterility method (D) Natural barrier method

Sexual tramitted desire transmitted by which micro organisms ?

(A) Virus Bacteria (B) Fungi, protozoan

(C) Virus, Bacteria, Fungi (D) Virus, Fangi, Bacteria, Protozoan.

Assertion - A : 10 to 17 days of menstrual cycle couple should away from the sexual inter
course.

Reason -R : During the 10 to 17 days of meanstrual cycle maximum possibility of
fertilization is there.

(A) A and R both are correct and R is correct explanation of A.

(B) A and R both are correct but R is not correct explanations of A.

(C) Ais correct but R is wrong.

(D) Ais wrong but R is correct.

IUDs copper devide which put in where as from that copper ions are release and it
function is

(A) More protection given to sperms.

(B) Prevent the process of to release ovum.

(C) Prepared the uterus for embryo implantation.

(D) Obstraction the motality of sperms and fertilization ability.
Chromosomes behaviours is also like genes. Which scientist studied it ?

(A) Correns and Tshermark (B) Morgan and Devries

(C) Sutton and Boveri (D) Mendel and Boveri.

Which situations is responsible for turner’s syndrome ?

(A) XXY (B) XXX (C) XYY (D) XO

How many percentage of colour blindness in man ?
(A) 0.4% (B) 8% (C) 40% (D) 80 %

[5]
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(17)

(18)

(19)

(20)

e2y)

(22)

(23)

(24)
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Which genetic code related with two functions ?

(A) UAA (B) AUG (C) CucC (D) GAG
Give the full form of VNTR.

(A) Variable Number of Tandem Repeats

(B) Variable Nucleotictes of Tandem Repeats

(C) Variable Nucleotide of Tandum Ribosmes

(D) Variable Number of Tandem Ribosomes.

Isolation of regments of DNA by the help of which method ?

(A) Gas Chromotography (B) Electrophorosis

(C) PCR (D) Lygase

Thrones of Bouganvelia and tendrils of cucurbita is example of ................
(A) Homologous organs (B) Analogous organs

(C) Vestigial organs (D) None of above.

Assertion - X : Most of the australian marsupials were differ from each other.
Assertion - Y : Australian marsupials were ecoted grom different ancestral stock.
(A) Assertion X and Y both correct

(B) Assertion X is correct and Y is wrong.

(C) Assertion X is wrong but Assertion Y is correct

(D) Assertion X and Y both are wrong.

Choose the proper option for the true (T) and false (F) from the given statements.
(A) Analogous organs - wings of insects and birds

(B) Vestigial organs - Appandix, and wisdom teeth.

(C) Homologous organs - Fore limbs of human, bird, and whale.

(D) Connecting link - Pisces and Reptiles.

(A) TFFT (B) TTFF (C)TTTF (D) TTTT

Which molecule is very important for construction of life ?

(A) Protein (B) Nucleoprotein

(C) Carbohydrate (D) Lipid

Continuous more fever, weakness, pain in abdomen portion headaete and poles are
produce in gut these symptions of which disease ?

(A) Pneumonic (B) Typhoid (C) Filariasis (D) Malaria
Labelled X and Y in given diagram.

Y
7

h=
(A) X =Heavy chain, Y = Light Chain
(B) X - heavy chain, Y = Antigen binding site.
(C) X =Light chain, Y = Antigen binding site.
(D) X = Antigen binding site, Y = Light chain

[6]
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(28)

(29)

(30)

€2))

(32)

oA HILRAHS 27 GAdR HiRs [Agpel ol AR

Match the columns properly.

Column-I Column-II
(I) Physical barrier (P) Leucocytes
(i1)) Physiological barrier (Q) Skin
(ii1)) Cellular barrier (R) Interferon
(iv) Cytoplasmic barrier (cytokine) (S) Tears from eyes

(A) (i-P), (ii-S), (iii-R), (iv-Q)
(B) (i-Q), (ii-S), (iii-P) (iv-R)
(©) (-Q), (i-P), (ii-R), (iv-S)
(D) (i-P), (ii-R), (iii-Q), (iv-S)

Which option is not related for crop and its variety

(A) Mustard - Pusa swarnim (B) Okra (Bhindi) - Pusa Swani

(C) Chili - Pusa sadabahar (D) Wheat - Pusa gaurav

Which amino acid ratio is double than now days, hybrid variety of developed maize ?
(A) Lysine and Arginin (B) Tryptophan and Methionine

(C) Hystine and Tryptophan (D) Arginin and Methionine

Statement-X : Sacharam barbary were grown in North India which having low
ratio of Sugar but yield were more

Statement -Y : Sacharam officinerum grown in temple region of South India which have
thin item and low ratio of sugar.

(A) X and Y both statement are correct

(B) X and Y both statement

(C) X-iscorrect but' Y - is wrong.

(D) X -is wrong but Y is correct.

Choose related option.

(A) Aspargilus niger - Acetic acid

(B) Acitobacter Aciti - Cirtric acid

(C) Trycoderma polyporum - Statins

(D) Chlostridium butilicum - Butelic acid

Free living fungus Trycoderma where it is useful ?

(A) For the killing insects

(B) For the killiong of ladyberg and dragon fly

(C) As abiocontrolar of plant disease

(D) For the production of antibiotics

Mycorrhiza : glomus fungus

Free living bacteria for nitrogen fixation :

(A) Rhizobium (B) Thiobacillus

(C) Preadomonas (D) Azatobater

Statement-X : Bakulo virus create the disease in insects and arthropada.
Statement-Y : Bakulo virus biocontroller which included in nucleopelyhydro virus genus.
(A) X andY both statement are correct.

(B) Xis correct but Y is wrong.

(C) Xiswrong butY is correct

(D) X anY both statement are wrong.

[7]
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(33) Named restriction endonuclause enzyme is
(A) It cut the DNA molecule from specific site.
(B) It identify specific squence for the lined DNA lygase.
(C) It inhibits the process of DNA polymers.
(D) It remove nucleotide from ending of DNA molecule.
(34) Which are the main steps for the formation of genetic modified organism.
(A) Identified the desirable gene with DNA.
(B) Identified DNA introduced in host.
(C) Conservation of introduced DNA in host and transported of DNA in its of springs.
(D) Above all.
(35) According to PCR method which is the collect Sequeue for three steps.
(A) Extension - Annealing - Denaturation
(B) Denaturation - Annealing - Extension
(C) Annealing - Denaturation - Extension
(D) Denaturation - Extension - Annealing
(36) For the getting desirable product for the in bioreactor which desirable situation
provide ?
(A) Temperature, pH, O, and CO, (B) Temperature, pH, O,and vitamin
(C) Reactant, Salt, pH and Density (D) Salt, Vitamin, O, and Pressure

(37)  Which vitamin is more present in golden rice ?

(A) Vitamin -D (B) Vitamin -C

(C) Vitamin -A (D) Vitamin -B,,
(38) First time use of genetheraphy for which disease ?

(A) Adenosine deaminase (B) Arthritis

(C) Diabetes melitus (D)  Small pox
(39) First time use of genetheraphy for which disease ?

(A) Adenosine deaminase (B) Arthritis

(C) Diabetes melitus (D) Small pox

(40) Choose the correct option for 1, 2, 3 and 4. These chart is represent changes in
population ?

Immigration
I
2|l
Natélhty ’ — Populatl(;lls Density N ‘ Mo}t;hty
U4
‘ Emigration ’
E
1 2 3 4
(A) Increase Decrease  Increase Decrease
(B) Decrease Increase  Decrease Increase
©) Increase Increase  Decrease Decrease

(D) Decrease Decrease  Increase Increase

[8]
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(42)

(43)

(44)

(45)

(46)

(47)

(48)

(49)

(50)
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Which an organism only one time reproduction in total life span ?
(A) Pacific salman (B) Bamboo
(C) Parrot (D) A and B both

Where principle states that two closely related species competing for the same
respurces cannot co exist identifinitely and competitively inferior one will be
eliminated eventually ?

(A) Darwin (B) Gauses’s competitive exhaustion principle
(C) Morgan (D) Mendel

Siberia and other extremely cold northern region thousand of bird are arrival from
the above in which national park of India they becomes host ?

(A) Kevladev (Kedala) National Park - Bharatpur, Rajastham
(B) Kaziranga National Park - Assam

(C) Kanha National Park - Madhya Pradesh

(D) Gir national Park - Gujarat

Grain - Goat - Human

(A) Consumer, Producer, Primary Consumeer

(B) Producer, Primary Consumer, Secondary consumer

(C) Primary consumer, Producer, Decomposer

(D) Producer, Primary Producer, Decomposer

Who tired to put price tags on nature’s life support services recently ?

(A) Darwin (B) Robert Mey

(C) Robert Constanza (D) David Tilmen

Which represented maximum species of global biodiversity ?

(A) Algae (B) Lichens (C) Moss (D) Fungi
How many new region are added in list of Hot sports ?

(A) 9 (B) 25 (C) 34 (D) 10

How many species extinct according [UCN Red list (2004) do comment last 500
years ?

(A) 784 (B) 748 (C) 27 (D) 584
Which collected impurity is found in waste water ?

(A) Silt (B) Bacteria (C) Phosphate (D) Ammonia
When Government of India has panal the environment (Protection Act).

(A) 1983 (B) 1986 (C) 1981 (D) 1984
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Time : 2 Hours PART-B Total Marks : 50

Introduction : (1)  Write in a clear legible hand writting.
(2)  There are three section in Part-B of the question paper and total 1 to 18

questions are there.
(3)  All the questions are compulsory. Internal options are given.
(4)  The numbers at right side represent the narks of the questions.
(5)  Start new section on new page.
(6) Maintain sequence.

(1)
2)

2)
3)
(4)
)
(6)
(7)
(8)

(8)

)
(10)
(11)

(11)
(12)
(13)
(14)

(14)

(15)
(16)

(16)
(17)
(18)

Answer question No. 1 to 8 as directed. (Each question carry 2marks.)
Explain about the zygote formation.
Explain process of microporogenesis.
OR
Explain about infertility.
Describe brief about Co-dominancy.
Explain the words nucleozome and nucleoids.
Explain the molacular structure of antibody. (Diagram is not necessary)
‘In Ecology water is represented as abiotic factor’ - Explain this statement.
Explain about productivity of ecosystem.
Write discuss not about eatrophication.
OR
Explain alien species invasions with example.

Answer questions number 9 to 14 as directed. (Each question carry 3 marks)
Give main characteristics of genetic code.
Explain about origin and evolution of man.
Explain about allergies.
OR
Explain about apiculture.
Give an account about miarobes as biofertilizers.
Describe in brief about genetically engineered Insulin.
Describe about in situ conservation.
OR

Answer question No. 15 to 18 in detail. (Each question carry 4 marks)

Explain with chart the process of female gamate formation in human.

Describe the inheritance of two genes with chart in pea according to mendel.
OR

Describe experiment of Meselson and stal.

Describe about carbon cycle.

Explain vector P™ 322 with restriction locations and cloning to catings in E.Coli.
Describe about tissue culture.

[10]
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(A)  wfafes qodeRtor 2rar ¢ |
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(D) 1298 § qoferre Bl ¢ |
2) MR H XUd Y H TRET |
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TATHRYT Sl e T Tk T8 L o To1T i 91 a9k a1 § 2
(A) 0°C (B)37°C (C) 100°C (D) -196° C
frefafea § & TRyoIY o0 qug S e ?

(A) et fHd, gehat (B) Wit fHE, HeX (C) Fohay, I (D) T, 9H
AT~ Te FHicTH-11 o 3f=d SIS o113y |

HieTH-| il
(P) WY (i) T W Y dTed STeR
Q) UHfEm (i) TSI S HET SR
(R) T~eHfeam (iii) e S e ol SAraRe
(S) = fe (iv) STEE ATl ol ST

(A)  (P-i), (Q-ii), (Reiv), (S-iii)
(B)  (P-ii), (Q-i) (R-iii), (S-iv)

(C)  (P-ii), (QHiii), (R-iv), (S-i)

(D)  (P-iv), (Q-iii), (R-ii), (S-i)
freafafea & 9 W2 % ar fases T |

(1) Yh1o] SEfelt shfdmemati # & G g i ¥ |

(2) Wfelt TR T Sc R € |

(3) AfET SIfIER TS o HYATT el € |
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(C) AW, RITEAE |
(D) ATEW, REEI T |
(12) T4 & 3T W (IUDS) H T Hifad i ST B & ...
(A) SRSt Xen B gfg |
(B) STSIY] o HeKI B ol fohal ol Ul |
(C) Tuierd =B T % fey SER e |
(D) RIS ol TTfRiterar el o= &ar ol U |
(13)  “TUREHT o SRR oft S ST & ¥’ SR ST A Al S i € 2

(A) I Td IHT (B) Wi TH form

(C) HA & dEdt (D) H<=d Td aEl
(14)  id faegm % fore forier fefq R & € 2

(A) XXY (B) XXX (C) XYY (D) XO
(15)  SOTfern 1 SHTO et H foha € 2

(A) 0.4% (B) 8% (C) 40% (D) 80 %
(16)  SIE A W Fafed i o Tk © 2

(A) UAA (B) AUG (C) cuc (D) GAG

(17)  VNTR I for&qa =m fafa |
(A) dIRTSE FeR Ah Ten Ruied
(B) dARTaA FfFsiere en Ruleq
(C) IRuaa Ffaasiereyg eq deErg
(D) ARUEe FeR T=q A=
(18)  DNA S TE! &l Teorieh g1 qerarha Teran ST Hehell © 2

(A) T SHIEEITH (B)  SoIERIBRIEH
(C) PCR (D) WIS

(19)  SFFfaferan  H1e T8 R % T T e ¢ 2
(A) HHSIAd (B)  dededdl
(OREEIREE (D) T

(20) T - X - R S feren & wrgfeey th-gm ¥ e o |

T - Y - siefern o o Agfees fae-fis gast o 9 fasfad gu
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(D) YU Gt
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SYATEH
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2}
= |2 TS A
U4
‘ SHAA ’
E
1 2 3 4
w  Jfs AT ELE ETl
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©)  dfs gig T T
©) E2il g Ifs
(41)  STrererel # Toh € o) S shieTell Site i ¢ 2
(A) yfafther |rend (B) «d
(C) (D) ATIB <Ml
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(A) Ferer () (B) TEeh4

(C) @ (D) oM (Sherh)

Fle-Tre &l ot g H 91e H fora e & wimfed fee e 2

(A) 9 (B) 25 (C) 34 (D) 10

IUCN TSTeree 2004 3 S&rast WU o STER fuset 500 @i # ferat Sfca ofw &1 T € 2
(A) 784 (B) 748 (C) 27 (D) 584

STAANT 71 T o e § A (Colloid) Tered % 4 H w0 ©t e1gfg et ® 2

(A) TIQ (B) Sftemyy (C) HITHS (D) T

Taferr (T srfafTam, wRa TeRr g fog ord # ifi fomm o 2
(A) 1983 (B) 1986 (C) 1981 (D) 1984
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g1 & forega s fafaw |
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(16) HYHEA Ud WIS & TANT o1 O T |
(17) S-S FATTT GelTEeh BR 322 H AfaieH Tl ShaTel Flll-1T T TS | (SH a9
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STD.-12 (SCIENCE STREAM) CHEMISTRY (052)
ANNUAL EXAM
TIME : 3 Hours SCHEME OF QUESTION PAPER Total Marks - 100

NOTE : This blueprint is for the guidance of students, Teachers, Examiners, Moderators etc. The moderators,
Teachers and experts in higher secondary of the respective subject may do essential changes keeping
the objectives in mind.

Weightage as per objective :

Objectives Knowledge | Understanding Application Higher order thinking skill | Total
(K) U) (A) Marks
Part-A Mark 05 13 17 15 50
Part-B Mark 05 15 15 15 50
Total Mark (%) 10 28 32 30 100

Weightage as per type of question : PART-A

No. Type of Question No. of Question Total Marks
1. Multiple choice questions 50 50
Weightage as per type of question : PART-B
No. Type of Question No. of Question Total Marks
. Short Answer Type (SA-I) 08 16
2. Short Answer Type (SA-Il) 06 18
3. Long Answer Type (LA) 04 16
Total 18 50

Weightage as per Chapter :

No. | Name of Chapter Chapter Unit
Weightage Weightage
1. The Solid State 7
2. Solutions 7
3. Electrochemistry 8 Unit-1, 36
4. Chemical Kinetics 8
5. Surface Chemistry 6
6. General Principles and Processes of Isolation of Elements 5
7. The p-Block Elements 7 Unit - 2, 26
8. The d-and f-Block Elements 6
9. Coordination Compounds 8
10. | Haloalkanes and Haloarenes 6
11. | Alcohols, Phenols and Ethers 6
12. | Aldehydes, Ketones and Caboxylic Acids 6
13. | Amines 6 Unit - 3, 38
14. | Biomolecules 6
15. | Polymers 5
16. | Chemistry in Everyday Life 3
Total Marks 100 100

Note : Chapter weightage may be change for different question paper. But unit weightage can not be change.
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STD.-12 (SCIENCE STREAM) CHEMISTRY (052)

ANNUAL EXAM
SCHEME OF QUESTION PAPER
TIME : 3 Hours Total Marks - 100
No. Of Information of Section and Question Marks
Question
1 to 50 PART -A
Multiple choice type 50 questions of 1 mark each 50
PART -B
SECTION - A
1t0 8 8 QUESTIONS OF 2 MARK SHORT QUESTIONANSWER TYPE 16
In this section total 2 internal options will be given (Total 2)
SECTION-B
6 QUESTIONS OF 3 MARK SHORT QUESTIONANSWER TYPE 18
9to 14 In this section total 2 internal options will be given (Total 2)
SECTION -C
15 1018 4 QUESTIONS OF 4 MARKLONG QUESTIONANSWERTYPE 16
In this section total 1 internal options will be given (Total 1)
Total Mark 100
Note: e Timeone hourforPart-A

® Time two hour for Part-B

e For first test syllabus will be upto first test only and paper style of it will be as per the
paper style of annual exam of 100 marks.

e In preliminary exam complete syllabus should be covered and its paper style will be as
per the paper style of annual exam of 100 marks.
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Time : 3 Hours
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YIRB1-12 (Science Stream), Sub. Chemistry (052)

Annual Examination

Sample Paper Total Marks : 100

Time : 1 Hours
Instruction: (1)

(2)
3)
4)
)
(6)
(7)

Total Marks : 50

There are total 50 objective type (MCQ) questions in part-A and all questions are
compulsory.

The questions are serially numbered from 1 to 50 and each carries 1 mark.

Read each question carefully, select proper option and answer in the OMR Sheet.
The OMR Sheet is given for answering the questions. The answer of each question is
represented by (A) O, (B) O, (C) O, D (O). Darken the circle of the correct answer
with ball-pen.

Rough work is to be done in the space provided for this purpose in the Test booklet
only.

Set No. of question paper printed on the upper right side of the question paper is to be
written in the column provided in the OMR Sheet.

Use of simple calculator and log table is allowed if required.

(1)  An Ionic Solid A'B” Crystalise like rock salt if all atoms along one body diagonal are removed
then what is the formula of substance ?

(A) A12B15 (B) A12B17
(C) A13B15 (D) A13B14
(2)  Which of the following defect is not exihibitted by Nacl ?
(A) Schottky defect (B) FCentre
(C) Impurity defect (D) Frenkel defect
(3) Inwhichofthe following compounds crystal have axial distance relation is different from other ?
(A) KNO;, (B) HgS
©) K,.Cr,0, (D) Sg(m)
(4) Thecorrectorderof F.P.ofgivensolutionis..............
(1) 0.1 MCH,COOH (aq) (i) 0.1 M CH;COOH (CHy)
(iii) 0.1 M CF,; COOH (aq) (iv) 0.1 M CH,COONa (aq)
(A) iv<iii<i<ii (B) iv>iii>i>ii
(C) iii<iv<i<ii (D) iv<i <iii<ii

(5) Onthebasis of given figure select correct option.

0.

[ [
I M T 0.05 M

Aniline SPM  Sodium
Hydrochloride Terpthallate

[4]



(6)

(7

(8)

)

(10)

(11

(12)

(A) Formation of precipitate of terpthallic acid in side B.
(B) pHofsideAdecreases

(C) Osmosis will not occur

(D) Concentration of solution in side A increases.

The % w/w of solvent in 40 % NaOH solutionis.......................
(A) 60% (B) 66.6% (C) 40% (D) None

Select correct option for True (T) and False (F)

(1) Intheunitcellof Nac] thereare4 NaCl units present.

(i1))  Atvery high temperature paramagnetic substance changes to ferromagnetic substance.
(iii) CrO, isferromagnetic and has conductivity as that of metal.

(iv)  Solid ammonia is molecular solid having low melting point.

(A) TFTT (B) TTTT
(C) FFFT (D) TFTF
S) @

For given electrochemical cell if Ecell=0.90V Al ‘ Al (xM)‘ ‘an* (0,0IM)‘ Zn (s)
X= eieeeiinnns E°Al|A17=1.66V,E°zn|zn*'=0.76V

(A) 10°M (B) 10°M

© 10°M (D) None
Which of the following cell is working acidic medium ?
(i) Drycell (i) Mercury cell
(ii1)) Lead Storage cell (iv) Ni-Cdcell
(A) (1), (1), (iv) B) (), (i), (iii)
(©) (1), (i) (D) Only (i)

If pentane is used as fuel in fuel cell then it’s Gibb’s free energy change is expressed is ..............
(E°’=1.23V)

(A) AG’=-32F(1.23) (B) AG'=-8F/1.23

(C) AG'=—4F+1.23 (D) AG’=-8F(1.23)

When 1 mol of potassium succinate is electrolysed between Pt electrodes, number of moles of
gaseous product obtained at cathode and anode are respectively.

(A) 1,3 (B) 2,3

© 2,2 (D) 3,2

Select incorrect statement.

(A) Theinversion of sugar is bimolecular reaction and kinetically Psuedo first order reaction.
(B) Thehydrolysis of ester in alkaline medium is 2" order reaction.

(C) 2AgNO,+BaCl, — 2AgCl +Ba(NO,), is fast

(D) Increase intemperature of reaction increases rate due to decrease inE,

[5]



(13)

(14)

(15)

(16)

(17)
(18)

(19)

(20)
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Thereaction betweenNO,,, and Br, , follows reaction mechanism as given below.

(2
NO(g) + BrZ(g) #NOBI"Z(&,) (Fast)

NOBr2(g) + NO(g) - 2NOBr(g) (Slow)

the order of reaction withrespectto NO , is .................

(A) 3 B) 2 <€ 1 D) 0
Which oxide cannot be reduced by C ?
(A) Cu,0O (B) Fe,0, C) ZnoO (D) Al,0;
Which of'the following is not an oxide ore ?
(A) Magnettite (B) Zincite (C) Cuprite (D) Siderite
Which of the following is mondgas ?
(A) CO (B) NO © I (D) NH,
Which of the following does not show tyndal effect ?
(A) CuSO,,, (B) Mist (C) Milk (D) Gum
B
excess AgNO, excess KI

AgNO,
P Q
In the above diagram colloidal partial of Agl are obtained then.....
(A) Invessel Pchargeoncolloidis+ve (B) Invessel Qcharge oncolloidis —ve

(C) InvesslPcharge oncolloidis-ve
(D) BothA&B

Which reaction involved in ostwald process ?

(A) Oxidation ofammonia in presence of Pt catalyst.

(B) Hydrogenation of vegetable oil in presence of Ni catalyst.
(C) Oxidation of NOby O, in presence of NO catalyst.

(D) Oxidationof SO, by O, inpresence of Pt catalyst.

(A) Thresholdenergyis X+Y—-Z
(B) Ea(rev)=X+Y

(C) AH=Z+X

(D) Eac< Ea(forward) >Ea(rev)

[6]
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(22)

(23)

(24)

(25)

(26)

27

(28)

(29)
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The correct order of b.p. ofhydrideis....

(A) PH, < AsH; < NH, < SbH, (B) H,O > H,Se > H,S > H,Te
(C) HF > HI > HBr > HCl (D) HF > H,0 > NH, > PH,
Which of the following halide is hydrolysed ?

(A) NH, (B) SF, (C) PF, (D) IF,
For given reaction select incorrect option

P, + SOCl, —» PCl,+OxiceofS + CholorideofS

(A) Ogxidationof Sinboththe productare +4 and +1 respectively.
(B) 10molof P,gives 40 moles of oxide of S and 20 moles of Chloride of S.

(C) Total moles of product obtained from 1 mol of P, is 10 mol.

(D) Inthisreaction sulphur is disproportionated from+4to +6and —2.
Select in correct statement.

(A) Solid PCI; existas [PCl,] [PCL]

(B) Solid PBr; existas [PBr,] +[Bf]

(C) Theanhydride of HCIO, is C1,0,

(D) NO,oncooling becomes paramagnetic.

The correct order of Paramagnetic momentis..............

(A) cr’ < Mn’ < Fe” (B) Cu’ > Zn" < Co”
(C) Ti" <V <Co” (D) cr <cr' <cor
Which product of Mn are obtained on heoting KMnO,, at 513 Kiis............
(A) K,MnO, Mn,0O, (B) K,MnO,, MnO,
(C©) Mn,0O;,MnO (D) Mn,0,,MnO,

Identify incorrect statement.
(A) Lantharoid contraction is the accumulation of successive shrinkages.
(B) Duetoianthanoid contraction atomic radii of Nb and Ta are same.

(C) Sheilding effect of 4f e is more than thatof5de
(D) Ce(OH), is mostbasic while Lu(OH), is least basic among hydroxide of lanthanoids.

The correct hybridization of transition metal ion/atom is.....

(A) K,[Ni(CN),]— sp’ (B) [Ni(NH,)" —d’sp’
(C) [Fe(CO),] — spd (D) [Fe(CN)]" - sp'd’
Which complex is colourless ?

(A) K,Cro, (B) [Zn(NH,)]"

(C) [Fe(CN)]"~ (D) K,[MnO,]

[7]
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(30) The maximum stabilization energy is associated with ........

(A) o (B)
© CH,— CH—CH,

_ (0]
(©) @COO (D) L
" J

2
(31) Which of'the following is not an electrophile ?

(A) “CH, B) °NO, (C) BF, (D) CH,C’O
(32) Thecorrectorderof Pkb valueis................

(A) F>OH >NH, > CH; (B) CH, > NH, >OH > F

(C) OH>NH, >CH; > F (D) NH, > OH > CH; > F

(33) Themoststable product of following reactionis......................

CH;,— CIH_ CH==CH, HBr > (?)
CH,
(A) CH; — CIH_ CIH — CH, (C) CH; — CIH_ CH, — Cle
CH, Br CH, Br
Br H
I I
(B) CH;— (lj— CH,— CH, (D) CH,— ?— CH,— CH,4
CH, CH,Br

(34) Themoststable product of dehydration of DCHZ ~on —H 4 g

w O w O
o O o Oran

(35) Thenumber of possible aromatic ether for compound C¢H,,0 is

(A) 4 B) 5 € 6 (D) 3

[8]
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(36) Inwhichreaction productis mentioned incorrectly ?

OH OH OH
(A) _ (B) on NO,
3H,/Ni n s
Br Br
NO,
OH OH
OH OH
© @ CRC0-Cl, © (D) @ Brycs, ©
—>
Br

COCH,4

(37) Which of the following will not give cannizaro reaction ?

a o ®
1
CH, - C-CHO Cl-C-CHO
1 1
CH, Cl

©) @ D)
@ e o @CHZ— CHO

(38) Identify the final product in the given reaction below

Ca - Salt of (i) heat > Product
adipic acid (ii) Zn - Hg/HCI
(A) n-Pentane (B) Cyclopentene
(C) Cyclopentane (D) n-Hexane

(39) Identify correct order for given property.
(A) C,H NH, >(C,H;),NH > (C,H;), N (basic strength in gas phase)
(B) (CH,),NH < C,H;NH, < C,H,OH (boiling point)
(C) CH;NH,<C,H\NH, < (C,H;),NH (Solubility in H,0)
(D) p-nitroaniline <p-toludine < aniline (basic strength in H,O)

(40) Which compound responds to carbylamine best ?
(A) p-Methyl benzylamine
(B) N- Methyl-0-Methylamiline
(C) N-Ethyl-N -Methyl ethanamine
(D) N, N Dimethyl amino benzene

[9]



(41)

(42)

(43)

(44)

(45)

(46)

(47)

(48)

(49)

(50)

dopUd HIRUMS wd GaudR HiRs [Qge odls, ol

Select correct statement for given compound

HN CO
O=OM
1 I1

(A) Ring(I)is more reactive than (II) towards electrophillic substitution.

(B) During bromination in presence of anhy AICl, - Br group enter into ring (II) at para positon.
(C) CO-group shows (+1I) effectand NH group shows (+R) effect.

(D) Boththerings have same reactivity towards electrophillic substitution reaction.

Find the end product in the given reaction.
Br,KOH CHCI /KOH LiAlH,
—>

CH,CONH, X Y —>©@
(A) CH,CH,NH, (B) CH,NH, © CHN=C (D) (CH,),NH
Number of chiral C-atom in glucose are...............
A) 4 B) 5 <€ 3 D) 6
Which amino acid does not have primary amine group ?
(A) Proline (B) Glycine (C) Alanine (D) Glutamicacid
Which hetero cyclic base is absentin DNA ?
(A) Adanine (B) Guanine (C) Uracil (D) Thymine
Glucose does not react with
(A) HCN (B) NaHSO, (C) NH,OH (D) C,H;NHNH,
The oxidant which is used as an antiseptic ?
(A) KMnO, (B) Phenol © 1 (D) KNO;,
Which of'the following is not an addition homopolymer ?
(A) SBR (B) Naturalrubber (C) Teflon (D) PVC
Correct pair of polymer and it’s monomer is...................
(A) Nylon-6 — Caprolactum (B) Neoprene — isoprene
(C) Orlon - CH, =CH- CH=CH, (D) Bakelite — Choroprene
Which Polymer has PDI valueisequalto1?
(A) Nylon -6 (B) Starch (C) Bakelite (D) Valcanized rubber

[10]
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Time : 2 hours PART -B Total Marks :50

Instruction: (1) Writeinaclear handwriting.

(2) There are three sections in Part-B of the questions paper and total 1 to 18 questions
are there.

(3) Allthe questions are compulsory. Internal options are given.

(4) Thenumbers atright side represent the marks of the question.

(5) Startnew section on new page.

(6) Maintain sequence.

(7) Useof simple calculator and log table is allowed if required.

(1)

)
€)
(4)

)
&)
(6)
(7
®)

®)

€)

)

(10)
(11)
(12)
(13)
(14)

(14)

Answer question No. 1 to 8 as directed. (Each question carry 2marks.) [16]

Certain order of reaction rate constan is at 500 K and 700 K temperature are 0.02 S™ and 0.07 S~
respectively. Calculate Ea and K of'this reaction.

Describe the method useful for concentration of sulphide containing ore.
Give structural formula of optical isomers of [PtCl, (en)z]2+ complex ion.
Give the equation of reaction of preparation of benzyl alcohol from toluene in two steps with
necessary reaction conditions.
Explain carbylamine test with one reaction.
OR

Write the equation of preparation of diazzoniumchloride salt from aniline give its two
charectistics.
Prove the presence of - CHO group in glucose by giving equation.
Write equation of preparation of PHBV from its monomer. Give its two uses.
Give two points of differnce between biosoft and biohard detergents.

OR
Whatare called food antioxidans give two examples.

Section -B |

Answer questions number 9 to 14 as directed. (Each question carry 3 marks) [18]
Explain mechanism of micell formation with figure.
OR
Give six point of difference between lyophillic and lyophobic sols.
Derive the equation of integrated rate constant first order reaction (Graph is not required)
How does nitrogen differs from other elements in its group ? Six Points.
How are interstitial compounds of transition metal are formed. Give two characteristics.
Derive the value of packing efficiency of body centered cubic close packing in three dimentional.
Write only the reactions of HI with given compound.
(i) 1- Propoxy propan
(i1)) Methoxybenzene
(ii1)) Benzyl ethyl ethar
OR
Write the equation of the following conversion with reaction condition. Phenol into benzoic acid
in three steps.

[11]



(15)

(16)

(16)

(17)

(18)
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| Section-C |

Answer question No. 15 to 18 in detail. (Each question carry 4 marks) [16]

0.6 ml acetic acid having the density 1.06 g mL™" is dissolved in 1 litre water. It’s shows the
depression in freezing point of 0.0205° C. Calculate vant haff factor and Ka of an acid.

For acetic acid the graph of Am — JC at infinite dilution is not useful for obtaining molar
conductivity. why ? A’ m NaCl, HCI and NaAc are 126.4, 425.9 and 91.0 S cm’mol™ and

respectively calculate A’ mof HAc.

OR
Three electrolytic cells A, B, C which contain ZnSO, , AgNO, and CuSO, respectively. They are
connected in series. In cell B, 1.45 g of Ag is deposited on cathode when 1.5 amp current is passed.
How long current might have passed ? What mass of Cu and Zn might have precipitated ?
(Ag=108,Zn=65.4,Cu=63.5 g/mol)
Answer the following questions regardity K [Cr(H,0), (0X),]3H,0
(1)  Write [UPAC name.
(1) Mention coordination number and magnetic moment.
(ii1) Give the filling of electrons in d-orbital according to CFT.
(iv) Mention the number of optical isomers.
Give only the equations of reactions of preparation of benzoic acid with proper conditions from
following compounds.
(i) Ethylbenzene
(1)) Acetophenone
(iii)) Benzonitrile
(iv) Etnylbenzoate.

[12]
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HT-12 (fasm garg ) var= fa=m (052)

anTfiren Tter
qU: 3w B SUE QR LE el 37 : 100
THY : 1 U FA 3F : 50

AT (1) @Y H a8 YR oot 50 U5 € | el we e € |

Q) IR HEAEE 1 Y507 | TAFISAH | 3he |

(3) WS YtenT ol TSR e UaHT 3R Wl ferened ohi fora |

(4) 3T AT UMY OMR TFE H W % EWHA (A) O, (B) O, (C) O, (D) 0, few 7w & | e
T I IR He Bl 3 Foehed oh TITeRR ohl U U1 e (@) SHEAT BT |

(5) Teuu s uz s S e AR 92795 He T Sl OMR Hie H Sqets et § fefeu |

(6)  THHE ¥ T Yferert H <t T ST H AT 8 |

(7)  fe ST gaTl il et sheehele 3T AIfeTet (Log Table) 3 SUANT i STl &1 STl & |

)

2)

3)

“4)

)

TR 31 A"B™ Ueh Fiee o AT THEHITOT J shidl & | ST Teh 37 farepol o geft wemm) @@ o o

ST T S At Tl 3h STUTEH 3R 21T 2
(A) A,Bj (B) A,B,
(C) A13B15 (D) A13B14
Frer 1 Qs effa NaCl =21 egitar 2
(A) TREHIT (B) F-F=<m
(C) Agfsafa (D) bt effd
e 1 9 forg fiTen S Trfe a1 S1afi o7 o ey 310§ STe USdi e ?
(A) KNO; (B) HgS
(C©) K,(Cr,0, (D) Sg(m)
few T forer o fewie staeH (F.P.) F e A T |
(i) 0.1MCH,COOH (aq) (i) 0.1 MCH, COOH (C H,)
(iii) 0.1 M CF,COOH (aq) (iv) 0.1 M CH, COONa (aq)
(A) iv<iii<i<ii (B) iv>iii>i>ii
(C) iii<iv<i<ii (D) iv<i <iii<ii
To@ MU 3ATRf o SR R T TR =i |
A B
P S e
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(6)

(7

®)

©)

(10)

(11)

(12)
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(A) 9TT-B T ST T & |

(B) 9M-A W& faferma® pHHE S|

(C)  TRTEROT 5T el Il |

(D) 9TT-A T % forera 1 q-gai d ghg e 2 |

40% w/w NaOH o foeraq # faames e % W/W &I ?

(A) 60% (B) 66.6% (C) 40% (D) EE
AR TAC (T) Td STT@ w few (F) 1 wet fasheq 94 |

() NaCl FITFRHT 4 NaCl T SUMETE |

(i) TR g=a a9 W SR qere wie grerhia uere # qiefd e |
(ifi) CrO, g Tre™ ¢ a1 fargi= =erehal 41 S aaH & |

(iv) STH-STHIT= SAT0Tfereh SIE & | qer 9 TTerish T e |

(A) TETT (B) TTTT
(©) FFFT (D) TETF

o o N N e @
foreg TremAfTeh s B fere afe Ecell =0.90V Al ‘AP*(xM)HZn”(O.OlM)‘Zn (s)

qen E°A1|A1+3=1.66V,E°zn > =076V T X=......cier....

(A) 10°M B) 10°M

©) 10°M (D) =R
SR A T i 1 1 FCAT S |
i) F- (i) TR -
(i) TS ERATA (iv) Ni-Cd ™
(A) (1), (1), (1v) B) (D), (i), (ii1)
(©) (1), (1) (D) e (i)
Ife $e B H 9F T H U 1 S FoRAT STl & A S9! Goft Soii T sl qeifad gea ..... .. |
(E°’=1.23V)
(A) AG°=-32F(1.23) (B) AG'=-8F/1.23
(C) AG'=—4F+1.23 (D) AG°=-8F(1.23)

STl | e Ui T werdieTet o forgd sTasree Pt forgd s o site fohen ST & 1 WS U sheire fagd s

YT B o1l T 3T foh Hiet G@ shu e ...
A) 1,3 B) 2,3 (C) 2,2 (D)3,2

ST U I A |

(A)  S[EhIS Bl ShHT g~ STTTereh Uel STITEl W she ot SAfaferan € |

(B) & wreem ¥ WEe o ferega eraere feela o ot erffsran 2|

(C) 2AgNO,+BaCl, — 2AgCl +Ba(NO,), T a2 |

(D) dT9HA T gfig ot A TEEfTen SAffehan av aed & o fo afshao s sedi € |
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(13)

(14)

(15)

(16)

(17

(18)

(19)

(20)

NO

(o 3R Br, ,, 1 afferan fore wramaforss sffsren =t foranfafe o stgeror st |

NO, + Bry,, = NOBr,,, (f=)
NOBrz(g) +N0(g) - ZNOBI”(g) (7<)

NO,,, wa=s 4 aifufsmen e

(A) 3 (B) 2 ©) 1 (D) 0
S G ATHRIEE C R g ST 8t &I |
(A) Cu,0 (B) Fe,0, C) Zno (D) ALO,
e o S |1 STERITES o7 (37R) T R |
(A) Fere (B) TSz (C) =gyrEe (D) faewEe
A ore-a e E el
(A) CO (B) NO ©) I, (D) NH,
=1 4 O % foea gare =72 etdr ?
(A) CuSO,,, (B) #EU(qwE)  (C) g4 (D) T
B
Afgw: AgNO,

AgNO,
P
ST ST H Agl AL B AR BIAE T <.oee
(A) Telt-P H ehfetel 1 TR 6 +ve T (B)  Tetl-Q H hfeted e W @ —ve 7 |
(C) Teti-P T shietel W &9 —ve § (D) THIATE B

SArgeee T fore aifufrn A Erdaie |

(A) TR heferee (ITUTh) ot Sufearfa § NH, i STTaRdeho
(B) ISTIEac T ol Fehal ScXeh ohi SUTEATd H RIS ST Iehtul
(C)  NO - 3RFH % 3ufearfa § NO O, FERT SRR |
(D) SO, FO, HEN Pt - SAH ot Sufeerfa o sTforgarton |

fe@ TT 31Rf o SR R W faher g

(A) Tadeessie X+Y-Z

(B) Ea(3) = X+7Y

(C) AH=Z+X

(D) E ac< Eagforward) >Ea (rev)
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(21) TESES H b.p. (FALH) FFEHAT |

(A) PH, < AsH, < NH, < SbH, (B) H,0 > H,Se > H,S > H,Te

(C) HF > HI > HBr > HCI (D) HF > H,0 > NH, > PH,
(22) T H A S |1 STES S STASTTHEA BT S |

(A) NF; (B) SF; (©) PF, (D) IF,

(23) SRR srfufeman o o 3fed fasrea i |
P, + SOCl, — PCL+S 9l AHEE + S T FH FANEES

(A) SNIERH S o SHHSHA ik + 4 SR+ | A B |
(B) 10T P, 40 HcT S-oh1 STRITES TR 20 WIeT S il TR
(C) 19@ P, U 3cIch el 10-Hed TR E |
(D) +4, +6 T&—2F FTUTAH L |
(24) STEAFTARGA ...
(A) =™ PCl, 3ufea®d [PCL,] [PCl,]
(B) @ PBr, SUR¥q & [PBr,] [Br]
(C) HCIO, #TTREgES CLO, B!
(D) NO, H IS HAR F{TEHI TS |

(25) ST g Mol SFEa A R |

(A) Cr’ < Mn’ <Fe” (B) Cu” > 7Zn" < Co”

(€ Ti’' <V <Co” (D) Cr <Cr <cCr
(26) SI3KTATEMTR KM,0, I T8 T3 T Mn 3l i T SeTS 9T &1 |

(A) K,MnO, Mn,0, (B) K,MnO,, MnO,

(C) MnO, MnO (D) Mn,0,,MnO,

(27) STHA FHUH H TH< |
(A)  TEATEE YehI= I8 THHel: Fehi= & RO T |
(B) RIS Hehi= 3 0T Nb 31 Ta ol GHT0] oo G0 @l 8 |
(C)  4f o SIS eh STTETEH WS 5d o TR -eh STTeTeH 3THY <l il H S |
(D) 9SS HEESES | Ce (OH), Haiifersh e 31 Lu(OH), Tl ¥ &Ti 2 |

(28) EShITA GITg ST AT AT oh FeTT HeRto T8 T |

(A) K,[Ni(CN),] - sp’ (B) [Ni(NH,)] —d’sp’

(C) [Fe(CO),] — sp'd (D) [Fe(CN)J" — sp'd’
(29) A H GOl AT TR ?

(A) K,Cro, (B) [Zn(NH,)]"

(C) [Fe(CN)]™ (D) K,[MnO,]

[7]



dopUd HIRUMS w1 GaudR HiRs [Qge olls, aidloR

(30) T3 & foprmrep T watfres wemgentor 3ot SEE Bt 2 |

(A) @0@ B, — cu—cn®
0
©) @ coo® (D) @ c-0

O,N
(31) FEH S SR S TR
(A) “CH, (B) °NO, (C) BF, (D) CH,C O

(32) P, GeA R T HAFNZ
(A) F>OH>NH: > CH, (B) CH,>NH, >OH >F
(©) OH>NH, >CH; >F (D) NH, >OH >CH; > F
(33) T eAfuferan o forg gad st S SR A e |

CH,
(A) CH;— CIH_ CIH — CH, (C) CH; — CIH_ CH, — ClH2
CH, Br CH, Br
Br H
I I
(B) CH;— (lt— CH,— CH, (D) CHy— (lt— CH,— CH,
CH,4 CH,Br

(34) DCHZ-OHL ?  Hfshan o foru FsTeirentor | T 214 el Jay STEE 3cTg
HAAE |

w O {ron
(©) QCHs (D) @CH3

(35) C,H,,0 19T oIt 32X & UAHTZeh THeeh (THTETE) ohl S faha i € 2

(A) 4 B) 5 € 6 (D) 3
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(36) T T fopm tfafran o1 SeaTe TTerd ST TR |

OH OH OH Br
(A) _ (B) o~ NO,
3H,/Ni ZnlA
Br Br
NO,
OH OH
OH OH
© @ LLEOEER © (D) @ Brycs, ©
—>
Br

COCH,4

(37) T @ w i srffshen 72 < ?

w oo ®
1
CH, - C-CHO Cl-C-CHO
1 1
CH, Cl

©) @ (D)
@C_ HO @CHz— CHO

(38) T erfrfenan o forg safm Scare sen @ 2

ey TfEe & (i) ™ S
Ca-  (ii)Zn-HgHCl
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STANDAR-12 (SCIENCE STREAM) PHYSICS (054)

ANNUAL EXAM
SCHEME OF QUESTION PAPER

TIME : 3 Hours

dopUd HIRUUS w GadR HiRs [Qge odls, oo

Total Marks - 100

NOTE : This blueprint is for the guidance of students, Teachers, Examiners, Moderators etc. The moderators,
Teachers and experts in higher secondary of the respective subject may do essential changes keeping

the objectives in mind.

Weightage as per objective :

Objectives | Knowledge |Understanding| Application Higher order thinking skill Total
Synthesis/ Inference/
Analysis Evaluative
Part-A Mark 06 15 16 13 -- 50
Part-B Mark 06 15 16 08 05 50
Total Mark (%) 12 30 32 21 05 100
Weightage as per type of question : PART-A
No. Type of Question No. of Question Total Marks
1. Multiple choice questions 50 50
Weightage as per type of question : PART-B
No. Type of Question No. of Question Total Marks
1. Short Answer Type (SA-I) 08 16
2. Short Answer Type (SA-Il) 06 18
3. Long Answer Type (LA) 04 16
Total 18 50
Weightage as per Chapter :
No. | Name of Chapter Chapter Unit
Weightage Weightage
Part - 1
1. Electric charges and fields 07 U-1
2. Electrostatic potential and capacitance 08 24
3. Current Electricity 09
4. Moving charges and magnetism 08
5. Magnetism and matter 05 u-2
6. Electromagnetic induction 05 26
7. Alternating current 08
8. Electromagnetic waves 05
PART - 2 U-3
9. Ray optics and optical instruments 09 25
10. | Wave optics 11
11. | Dual nature of Radiation and matters 06 U-4
12. | Atoms 07 18
13. | Nuclei 05
14. | Semiconductor Electronics : Materials, Devices 07 U-5/07
Total Marks 100 07

Note : Chapter weightage may be change for different question paper. But unit weightage can not be change.
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STD.-12 (SCIENCE STREAM) PHYSICS (054)
ANNUAL EXAM
SCHEME OF QUESTION PAPER

Que. No. Question Detail Marks
PART - A
11050 50 Question of one Mark MCQ type 50
PART -B
SECTION - A
1108 8 Questions of two mark SA-1 type 16

e Inthis section two internal option.

SECTION -B

9 to14 6 Questions of three mark SA-Il type 18
In this section two internal option.

SECTION -C

15 t018 | 4 Questions of fourmark LAtype 16
In this section one internal option.

Total Marks 100

Note:

Time one hour for Part-A
® Time two hour for Part-B

e The syllabus of the first term will be taken for first exam. And its blue print of 100
marks as per annual exam blue print.

e The Preliminary examination will over the entire syllabus and its 100 marks blue print
as per annual exam.

[2]
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Yi:81-12 (Science Stream) PHYSICS (054)

Annual Exam

Sample Question Paper
Time : 3 Hours Total Marks : 100

Time : 1 Hours PART - A Total Marks : 50

Instructions : (1) There are 50 objective type (M.C.Q.) questions in part-A and all questions are
Compulsory.

(2) The questions are serially numbered from 1 to 50 and each carries 1 mark.

(3) Read each question carefully, select proper alternative and naswer in the O.M.R.
Sheet.

(4) The OMR Sheet is given for answering the questions. The answer of each question
is represented by (A) O, (B) O, (C) O, (D) O. Darken the circle (®) of the correct
answer with ball-pen.

(5) Rough work is to be done in the Spare provided for this purpose in the Test Booklet
only.

(6) Set No. of Question Paper Printed on the upper most right side of the question
paper is to be written in the column provided in the OMR Sheet.

(7) Students may use a Simple Calculator and log-table, if necessary.

(1) A Charged ball hangs from a silk thread, which makes an angle 0 with a large charged
conducting sheet. The surface charge density ¢ ofthe sheetis proportionalto.................
(A) tan© (B) Sin© (C) Cos6 (D) CotH

(2) Two charges are at a distance d apart. If a copper plate of thickness d/2 is placed between them,
the effective force will be,

(A) 2F (B) F/2 (C) 4F (D) V2 F
(3)  APointcharge g isplaced at the centre of a cube of side L. The electric flux emerging from the
CUDCIS e 6al’ q
(A) Ei (B) Zero © fo D) ¢,

(4]

(4)  What charge would be required to electrify a sphere of radius 25 cm, so as to get a surface
charge density of % c/m’ ?
(A) 0.25C (B) 0.75C (C) 057C (D) 0.5C
(5)  Twofield lines can never crosses each other because,
(A) Fieldlinesare closed curves
(B) Fieldlines repels each other
(C) Fieldlines crowded only near the charge
(D) Field hasaunique direction at each point

(6) Ifhave energy of a 100 u F capacitor charged to 6KV could all be used to lift a 50 kg mass, then
the greatest vertical height through which mass could beraised is.................... m.

(A) 3.6 (B) 0.6 ) 1.2 (D) 12

[4]



©)

(10)

(11

(12)

(13)

(14)

(15)

The electric potential at a certain distance from a point charge is 600 V and the electric field is
200 N/C. The distance of the point charge is...................... m.

(A) 2 (B) 3 ©) 1 (D) 0

The dimensional formula of dielectric strength s .......................

(A) M'L'T’Q" B)MLTQ" () ML'TQ' (D) ML'TQ

If X joule of work must be done to move electric charge equal to 4C from a place, where
potential is—10 V to another place. Where potential is 5V, then the valueof X =............... J.

(A) 30 (B) 60 (C) 50 (D) 100

A wire of resistance 20 Q is bent in the form of a circle. Then the effective resistance between the ends
ofthe diameteris.........oouu......

(A) 5Q (B) 10Q (€) 15Q (D) 20Q

A carbon resistor has coloured bands orange, green, golden and silver then its resistance will be

(A) 2.5+£10%Q (B) 3.5+5% Q (C) 3.5£10%Q (D) 350+10% Q
The resistance of wire is 10 Q . If the length of wire is increase by n % the new resistance is
10.2Q then n=.................
(A) 1 (B) 2 € 3 (D) 4
Which of the following is correct expression for mobility u ?
Ap=mt  (B) p=em (C) p=et (D) u= e
e T m m
Anelement AT=Ax1 isplace at the origin and carries a current1=10A.
If Ax=1cm, magnetic field at point Pis..................... T

Iky
p

T A x

(A) -4x10°] (B) 4x10™] (C) 4x10™1 D) 4x10°k

A circular current loop of magnetic moment M is in an arbitrary orientation in an external
magnetic field B. The work done to rotate the loop by 30° about an axis perpendicular to its
planeis................
(A) MB (B) y3 MB ©) MB (D) Zero

2 2

[5]



(16)

(17)

(18)

(19)

(20)

21

(22)

(23)

(24)

(25)

(26)
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In a Cyclotron, a charged particle,

(A) Undergoes acceleration all the time

(B) Speeds up between the dees because of the magnetic field

(C) Speedsupinadee

(D) Slows down within a dee and speeds up between dees.

A Permanent magnet in the shape of a thin cylinder of length 10 cmhasM =1 0° A/m. Calculate
the magnetisation current Im. .................

(A) 10°A (B) 10°A (C) 10°A (D) 10°A

A magnet of m magnetic momant is rotate up to 360" in magnetic field H then the work done is

(A) 0 (B) mH (C) 2mH (D) 2nmH
The dimensional formula of B_2 IS cveiiiieeeeeieinns
24,
(A) M'L'T’ (B) ML'T” (C)M'L'T? (D) M'L'T°

Asquare of side L m lies in the x - y plane in aregion, where the magnetic field is given by

]? =B, (2? 7 33'\ + 4k ) T, where B, is constant. The magnitude of flux passing through the
SQUATE IS c.evveeeivreenerenne Whb.

(A) 2B,L (B) 3B,L’ (C) 4B,L’ () Y29 B,L’

The self inductance £ of a solenoid of length ¢ and are of cross-section A, with a fixed number
ofturns N increases as,

(A) ¢ and A increase
(B) ¢ decreases and A increases
(C) ¢ increases and A decreases

(D) both ¢ and A decrease.
A 1m long metal wire moving perpandicular with speed 5 m/s in a magnetic field of 0.1 T. Then

the induced emfbetween two ends of wire is ................. V.
(A) 1 (B) 2 (C) 0.5 (D) 0.25
The output of a step-down transformer is measured to be 24 V when connected to a 12 W light
bulb. The value of the Peak currentis.................... A.
L )
(4) B) 2 (€)2 (D) 22
2
A capacitor of 250 u F is connected parallel with a inductor of 0.16 mH. If the effective
resistanceis 20 Q thenresonant frequency ................ Hz
(A) 9x10° (B) 16x 10’ (C) 8x10° (D) 9x 10°

A coil of rectance 8 Q and resistance 6 € is connected in D.C. circuit, then the effective

resistance of the circuitiS........coeeeeen..... Q

24
(A) 14 (B) 8 (€) 6 D) 7

How much average power is stored in an inductor when it is connect with AC source ?
(A) 12 Li’ (B) Li’ (C) O (D) Li

[6]



27

(28)

(29)

(30)

(1)

(32)

(33)

(34)

(35)

(36)

(37)

(38)

(39)
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The ratio of contributions made by the electric field and magnetic field components to the
intensity ofan EM waveis...................

(A) C:1 (B) C*:1 (C) 1:1 D) C-1
The electric field intensity produced by the radiations coming from 100 W bulb at a 3 m

distance is E. The electric field intensity produced by the radiations coming from 50 W bulb at
the same distance is..................

E E 2 E
A 2 (B) 2E (O 2 (D)
The charging current of capacitor is 0.25 A, then the displacement current around its plates is
.................. A
(A) 1.25 B) 1.5 (C) 0.25 (D) 0.5
If lower halfofa concave mirroris blackned then,
(A) image distance increases (B) image distance decreases
(C) image intensity increases (D) image intensity decreases

When a light wave travels from air to glass,
(A) Itswavelength decreases (B) Itswavelength increases
(C) Thereisnochangeinwavelength (D) Its frequency decreases

A fish which is at a depth of 12 cm in water (L =4/3) is viewed by an observer on the bank of a
lake. Its apparent depth as observed by the observeris................... cm.

(A) 3 B) 9 (C) 12 (D) 16

In an equilateral prism if incident angel is 45" then minimum deviationis...............
(A) 30’ (B) 60° (C) 45" (D) 90’
Astigmatism for a human eye can be removed by using ..............

(A) Concavelens (B) Convexlens (C) Cylindricallens (D) Prismaticlens

In young’s double slit experiment, if the width of 4th bright fringe is 2 x 10” cm, then the width
of 6th bright tringe willbe ....................... cm

(A) 10° (B) 3x10” (C)2x10” (D)1.5x10°
The bending of beam oflight around corners of obstanclesis called................
(A) Reflection (B) Refraction (C) Diffraction (D) Interference

An unpolarised beam of light of intensity I  falls on a polaroid. The intensity of the emergent
beamis.....c.cccceeneee

(A) 1./2 (B) I, (C) 1/4 (D) zero

Which of the given phenomenon is baled on the fact that light waves are transverse
electromagnetic waves ?
(A) Diffraction (B) Interference (C) Polarisation (D) Refraction

The condition for obtaining secondary maxima in the diffraction pattern due to single slit is

(A) aSin6=nA (B) aSin6=(2n-1)A/2 (C) aSin6=2n-1)A (D) aSin0=nA/2

[7]



(41)

(42)

(43)

(44)

(45)

(46)
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4 (A) 4 (B)
Photo Electric Photo Electric
Current Current
intensity of light ! intensity of 1ight'
A (C) A (D)
Photo Electric Photo Electric
Current Current
intensity of light intensity of light
0
An X-ray tube is operated at 50 KV, the maximum wavelength produced is.................. A
(A) 0.75 (B) 0.25 (O 1 (D) 2.5
De-Broglie wavelength associated with an electron, accelerating through a potential
(A) Gammarays (B) X-rays (C) Ultravoilet (D) Visibleregion

If E, and E; represent potential energy and kinetic energy respectively of an orbital
electron, then according to bohr’s theory,

(A) E,=-E,/2 (B) E,=E, (C) E,=2E, (D) E,=-2E,

Highest energy level of an electron correcponds to n = oo and it has an energy of ........... eV
(A) Zero (B) oo (C) 13.6 (D) —13.6
Ahydrogen atom in its ground state absorbs 10.2 eV of energy. The orbital angular momentum
isincreased by .......cccceevenne. Js. (h=6.6x107"1.8))

(A) 1.05x10° (B) 3.16x10 (C) 2.11x10™* (D) 422x10 "

Heavy stable nucle have more neutrons thau protons this is because of ..................
(A) Neutrons are heavier than proton

(B) Electrostatic force between protons are repulsive

(C) Neutrons decay into protons through [3 decay

(D) Nuclear forces between neutrons are weaker than that between protons.

[8]



(47)

(48)

(49)

(50)
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A radioactive substance decays to 1/16 th of its initial mass in 40 days. The half - life of the
substanceis................ day.

(A) 20 (B) 10 ()5 (D) 2.5
Fill the blank: ij S e, + ¢ + V (anti-neutrino)
14 11 32 22
A N B B C S D N
@ ®) © (D) |oNe
In ideal junction diode as shown in figure, the current howing through AB is .................. A
A 1kQ B
+4V -6V
(A) 107 (B) 10" (C) 10° (D) 0

The Boolean expression of NOR gate is ...............
(A) y=A (B) y=A+B (C) y=A'B (D) y=A+B

[9]
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PART - B

Time : 2 Hours Total Marks : 50

Instructions : (1) In question paper Part-B there are three section.

(2) All question are compulsory and carry internal option.
(3) Number represent in write side is indicate marks of question.

(1
2

)

4

)

| Section - A

Question No. 1 to 8 do as directed. (Each question carries 2 marks) [16]

Define electric line of force and give its two important properties.

In a meter bridge, the null point is found at a distance 0 33.7 cm from A. If a resistance of 12 Q is
connected in parallel with S, the null point occurs at 51.9 cm. Determine the values of R and S.

R S
- B
s [, ] [
A Gy C

“_f]—'ﬁﬁloo—fl—’

f%’laa uZl v

) Kl

The wires which connect the battery of & an automobile to its starting motor carry a current of
300 A (for a short time). What is the force per unit length between the wires if they are 70 cm
longand 1.5 cm apart ? Is the force attractive or repulsive ?

A closely wound solenoid of 800 turns and area of cross section 2.5 X 10" m’ carries a current
of 3.0 A. Explain the sense in which the solenoid acts like a bar magnet.

OR
The earth’s magnetic field at the equator is approximately 0.4 G. Estimate the earth’s dipole
moment.
Predict the direction of induced current in the situations described by the following

figs. (a) to (d).

Rheostat Setting

(Tapping Key just closed) (d)being changed

©
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Give any four cheretristic of electro magnetic wawes.

Explain the nuclear binding energy with exampel of O
OR

Find the energy equivalent of one atomic mass unit, first in joules and then in Mev. Using this,

express the mass defect of (1)6 inMev/C’.
8
Explain the zener diode as a voltage regulator with proper circuit diagrams.

Section - B |
Answer questions number 9 to 14 as directed. (Each question carry 3 marks) [18]

Aroom has AC run for 5 hours a day ata voltage of 220 V. The wiring of the room consists of Cu
of 1 mm radius and a lenght of 10 m. Power consumption per day is 10 commercial units. What
fraction of it goes in the joule heating in wires ? what would happen if the wiring is made of
aluminium of the same dimensions ?

[geu=1.7x 10°Q m, Q AI=2.7x 10°Q m]
OR
What is parallel connections of cells ? Device the equivalent equation of parallel connections
oftwo cells.
For a circular coil of radius R and N turns carrying current I, Prove that the magnitude of the
magnetic field ata point on its axis at a distance X from its centre is give

byB= _1IR'N
2 (XZ n R2)3/2

Explain refraction of plane wave by using Hvygens principle.

Two towers on top of two hills are 40 km apart. The line joining them passes 50 m above a hill
halt way between the towers. What is the longest wavelength of radio waves, which can be sent
between the towers without appreciable diffraction effects ?

What is the de Broglie wavelength associated with (a) an electron moving with a speed of
54x10°m/s and (b) aball of mass 150 g travelling at 30.0 m/s ?

OR
Photoelectric effect can not be explain by using wave theory of light why ?
Write the truth table for the circuits given is Fig. consisting of NOR gates only. Identify the
logic operations (OR, AND, NOT) performed by the two circuits.

(a) (b)

[11]
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Section -C

Answer question No. 15 to 18 in detail. (Each question carry 4 marks) [16]

Two charges —q and+q are located at points (0, 0,—a) and (0, 0, a), respectively.

(a) Whatisthe electrostatic potential at the points (0, 0, z) and (x, y, 0) ?

(b) Obtainthe dependence of Potential of the distance r of'a point from the origin when
r/a>>1.

(c) How much work is done in moving a small test charge from the point [5, 0, 0] to [-7, 0, 0]
along the X - axies ? Dose the answer change if the path of the test charge between the
same point is not along the X - axis ?

Derive an expression for the impedance of an a.c. circuit with an inductor L and a resistor R in
series. Also obtain the expression for average power in this circuit.

OR

A resister of 200 £ and a capacitor of 15.0 [LLF are connected in series to a 220 V, 50 Hz ac

source.

(a) Calculate the current in the circuit.

(b) Calculate the voltage (rms) across the resister and the capacitor. Is the algebraic sum of
these voltages more than the source voltage ? If yes, resolve the paradox.

Use the mirror equation to deduce that :

(a) Anobjectplaced between fand 2fof a concave mirror produces a real image beyond 2f.

(b) A convex mirror always produces a virtual image independent of the location of the
object.

(c) The virtual image produced by a convex mirror is always diminished in size and is
located between the focus and the pole.

A hydrogen atom initially in the ground level absorbs a photon, which excites it to the n =4
level. Determine the wavelength and frequency of the photon.

[12]
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(B) wietT 3k =ggiT & i R faegaeer & #ror
(C) ~gI7F7 9Ici7 7 [a8e & HRIT (49 F FR)
(D) =i & & FHASTI AT T F FIROT (TS Bt AT 7)

(47) T AT T BT EHT40 %?#WWWWT% gl ST 81 T SHBTTEf S oo

(A) 20 (B) 10 (C) 5 (D) 2.5
(48) ?g P, +E 4V
14 11 32 22
A) 7N B) B ()7 S (D) §5Ne
(49) STl 7 FOrfa TE TN TR IS TAB & TN [TGTERT ..o A.
A 1kQ B
+4V | -6V
(A) 107 (B) 10" (C) 10° (D) 0
(50) NOR Gate &7 glora7 THIBIT ........... g1
(A) y=A (B) y=A+B (C) y=AB (D) y=A+B
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qIfeAT 37T 727 & 3f% fd 13 F

74T T 79 93 9 fored |

TRAT HT TITST FATTAR FHAT |

HTTITFATTAR TIGT FTGAY T T ST BT T B |

F9 R 9o HwiE 1 | 8 /i TP T T | Yl YA HTIA 27 | [16]

fergaeraT & JE3T BT TRATIT B 371 31 crgrviieard fore |

H¥ forst 7 aeerfag A &33.7 cm T fear 8, afs'S & @y GHiaT 12 &7 giavter FisT 18 al aev fog

51.9 cm &1 g8 W eTar 2R TATS F7 7o 1 FHTT |
R

5
Lo BE oo
A ,jt 1001 | C
%D 100 — )
%MMWM
e uzl

e K
U @i qTET Pt A @ ST Fler AieT Bl Sig+ aret ari 7 300 A freg ST ganed gidt &, art &
&I i UhTe oTeITg X fabe=T cT 7raT & afs g7t arvarg 70 cm UF &7 %t 33 1.5 cm & / 78 a7
SITHYOT & & IT FIAH 7 717 |

g% TRATIoTET 7 9T 9 o792 14 800 B¥ & TAT SHHT ITTI FIe FT d7%2.5 x 10° m* & 37vza# 3.0
A T gaTiEd 81 8t &, FHgnEd b oy aref & 78 TRATITeBT U B gk 1 AXE HIBR Bt & ? S ATl
ST AT JHIHIT SITET0f faT & 2

Tt
fergae T q¥ g2dt & FErB AT H aRATT THT0.4 G 2, gedt & gHe & e STeret 1 rorr #ery |
7t Forrat smtaat(a) @ (d) F oy IR T @t 9 aarga |

S diizeui
(2101 501 gMRIL % oiY 531.) szl gl

(© ()
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(6)  frga grrsig a3 &1 Fig TR AT BT TR |

(7) 1860 & IFTEYT ZRT AT BT Ter 371 THSTSIT |

STYIAT

U QAT FHATT ATAE F TAG Il HT HAE T8 Jof 3 BT MeV & Fia 31 37k g7
3’-7'&?#6’:7%1860 Pt g ffd MeV/IC® 7 ar® #ifory |

(8)  TicesT 4= B G¥8 = STAIS BT I T TRTY & TTeT THSTTIT |
- B

° F o g FWiE 9 W 14 F A T IO AT | g g7 FT 07 3 2 | [18]
(9) 220V RUFFRATERTHACS g2 Farar 2, 10 m & 31 mm o7 & awd 39 A
TR B 75 & | FlatsT 10 HHARMET Jive qraw e gld & aT a7 7 feea=1 o7 37 377 &t 2
Al Qo= % TAT AT qIed T BT 0T 1T &7 it a1 ST 2 it 2
Qcu =1.7x10° m,S, =2.7x10° m]
ST
el BT THIG 9 TRUTIVEHT 37T Tt 3 40it 34 7 emf &7 T 917 Fo17 |

(10) T emragtN a3F 3R R Frowr areft qare FUSat & fo7q 0@ 76T U 5 @ X g4 0¥ Ry fet

~ WIRN
ferg T gFTHIT 47 FTTTB TR R #1517 |

(11)  &7e7iq & i 1 755 T GHAT AT TTTAT THATST |
(12) &7 warfsar #1 =it 9 &1 HiAR v gk & 40 km #1538 9% &, g1 FigHarci W 7eT 7

AT FT 7Tt F50 M FUR G EIBT AN 8, I AT AR F STIBAH T 39 F1T FITT,
7T HI7RT & e [T 99T faad T 79T & 95t 57 q% |

(13) (a) vFFAFIT5.4x10°ms" &1 97107 @ TfT FT T,

(b) 1509 s=r#r= #1755t 30.0 ms™ @t =rer & 7l FE 8, T JSt &1 at et air e
FTTHT

ITET
It ST T, WIS & T8 THSIT ST THATE | 747 2

(14)  f7 g o4 TTNOR 7T & & TRTYT Pt TATT TRV T3 ST TRIT ZTRT 3TTTTIeTd 7% T
fzpa137T (OR, AND, NOT) &7 37fifrerfia @ifory |

(a) (b)
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(@) fr5(0,0,z)3R(X, y, 0) R fargga fawar /T & 2

(b)  FoT forg @ farsdt forg 1 gHIT TR, rla>> 1 fareya 1 fAeRar @ #org |
(c) x s wfrg(5,0,0)d a5 (-7,0,0) TF TP GAHTT TG F1 & ST A [HAT B1F FAT
TEIT 2 TS GEETOT ST T F5T feigaql @ e x- 3767 T BIBY 7 & A1 AT F4T JAT TG STAIT 2

L @rR .4t aRuer 7 gvit %4 7 &, gfaarer (Imbedemer) Z & forg @ 910 #31 37 309
T IR THTE |

377dT
7% 220 Q §laier® Uq g 15UF e, 641200V AC, 50 Hz &ia & sivit 54 7 571 13 2 |
(@) TR g erT T o7 BT |

(b)  FfaRiers Ud @R & RIRT & &= (rms) dlecdT &1 97T BT | 4T 37 qiecdril &7 &
TITHIT T 1T Tloear & 3ifere & 2 qf% &7, a1 S [eRTET T FHT1R1e30T FHTT |

(@) frdtsraoTEdorFF 7T 2F % s w2 forer T qratas giiteas 2F @ gvaAard |
(b) 3T FYT FRT T SITHTHT Fierfarar a7 8, 577 feie b1 Rerf g e 787 vt |
(C) 3T FYIT FRT TIT ITHIX A BIST FIATeIal, THOT F T T BB F a1 aar 2/

RS G BT IUTIT F3F BTESTT TAZH BT ATSAT 0T 7 T TR TFZHI 137 BT 7T et
T TRBITT BT |

[12]

s HIRMS w1 GadR Hias [Qige odls, oo

[16]



dopUd HIRUUS w GadR HiRs [Qge odls, oo

=

Q101-12 ([Qsuq ) Ailds [Asu wailas (055)
s udlen
N2 3 S8 walBus udlan usiuad ulk3u 4490 50

(s ulan W2 dpRamiRy Hny)
(1) [acior- 1 1l suda udleHiel 218 udlol - 20 98t
(2)  [Aeuol - 2 Hi sUdd ALl vis UddL 20 98l
(3)  uulaLA vi3u Hibs Uil 06 218l
@)  ws1: udd y-a 04 918l
44 50 98l

° €35 UULL W2 ¢

(1) UL ALl 110y dllsae(l deu udloL ugld, [Qgd ulRua 06 8L

(2)  adlse $16L SlRAl il U1y HU5H AL AHAALSHL ikl 07 32

(3) ol / e 06 L8l

(4) iy R ulRkeun /g 0198

54 20 918
EICTRI
$4 | ualdL AL
612

1, E1 [QedRAlQHIAAL dslad [Qg [Agdualsdl 2iem gld] 2UUAL diR Hi2 254 dotls €ls
SRR EERE)

2. E2 ool Gualal s3I0 2UUAL diReAl A 4551 a2 d UYL il gl
qR14 L 551 2l

3. E3 Yl22B1ogetl Gulol 531 AL AL (2120l 21 AHIAR) AL [FUHL As1CL.

4. | E4 | dz[RHledl Gualal 53 bl ol waHls sin (Rud 24 Asald siv)-L [Qgd
e s 6101 (emf) ULl

5. E5 Yle(RrHleaAl Guulol 531 2uual wiafds st 21idRs 21aR18 «A55] s34l

6. E6 214 241l el e Alfle Al 21alt 55 sel 24 Al (3212 s ARe 2dladl.

7. E7 | 2ulaldied-iidle: (ataia 2 3o 2ils ARe stid Sl dar) A (i) SR 244 (0 ¢ 30
mA) t21adl 2H22 2 (i) SR 21alB (0 ol 3V) Hlddl dieeHl24l 3uidR 30 2
afl sl sl

8. E8 Al-l22 27 [ggaeisl Gualol 53 uautad dare (Glaeyae udls - ac) -l »ugl
SEERIN

[13]




dopUd HIRUUS w GadR HiRs [Qge odls, oo

(oo - 2
4| waldl R]
612

1. E9 212101 2|21 BRUUML U AL Yelel HEdl 12 U Al Hedl Alaal 24 3 doilsd dladl.

2. E10 | o[ 2Ul01 At HIZ u 2t U 24l 1/u 27 u 2L 21 elF] s dotlS aliadl

3. E11 | otlallo duetl Guadlol s3] oilor(n 247041l Svs doilsS el

4. E12 | oilorlo Al Gualol 531 vidollo A=l S dotld alludl.

5. E13 | 2ue 51l Bosu Hie UL sielL 2 [Qaeansie a2l vidu eldl, agaH [Qaadsial
55l 53l

6. E14 | ad yemedsdot (21al&or mudsiusiu) -l Gualol 531 st A6l (iudl) -l asleiadis
ICETR

7. E15 | (i) 2idolon AZ04L (i) ol Axd 24 AHdd 22l Gudlol 530 »ulel Udldl
(ursll)+dl asletasis «Assl s2dl.

8. E16 | p-n%sad-l siad opuy aia Razd sinaddfl Rlul 1-v Al daellsdl saladl as
glRal.

9. E17 | 312 3113 HI2 AlBilBLs a% SlRell 2 dsil [Ra( el5316+ die2os w55l s34l

10. | E18 | s+l U2 n-p-n (A p-n-p) 222+l cla@scirl 206414 52l d2ll dLe2y i
uelle @68 (3L5) Al Yl Al

[14]




	scan0009
	Std-12 Maths-050 (Eng)
	Std-12 Maths-050 (Hindi)
	Std-12 Biology-056 (Eng)
	Std-12 Biology-056 (Hindi)
	Std-12 Chemistry-052 (Eng)
	Std-12 Chemistry-052(Hindi)
	Std-12 Physics-054 (Eng)
	Std-12 Physics-054 (Hindi)

